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Introductory Lecture
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1. BRIEF COURSE DESCRIPTION
This course introduces the basic principles of English morphology and syntax from the
perspective of generative linguistics.

It covers the different processes of word formation including affixation and compounding.
The syntax part introduces basic constituent structure as well as some simple syntactic
processes illustrating the working of the transformational component in the grammar.
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2. COURSE CONTENT
MORPHOLOGY
= Words and word structure

= Derivation

= Compounding

= |nflection

= QOther morphological phenomena
= Morphophonemics
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SYNTAX
= (Categories and structure
= Complement options
= Move

= Universal Grammar and parametric variation

3. COURSE OBJECTIVES
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By the end of the course, students should be able to:

= |dentify the internal structure of English words.

= Distinguish different types of morphemes: derivation vs. Inflection.

= |dentify the constituent parts of a sentence: words, phrases and clauses.

* Provide a syntactic representation of constituent types on the basis of X’-theory.

» Provide a syntactic derivation for some common sentence types.
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4. Course Evaluation
Total mark is out of 100
1. 30% of the total mark is assigned to:
v" Your participation in the Blackboard Forum.  (10%)

v Your main three assignments. (10%)
v Your attendance to live and recorded lectures. (10%)
2. 70% of the total mark is assigned to the FINAL TEST

The final test consists of a set of multiple choice questions with five options to choose from.
The exact date and time of the final test will be announced later.
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5. References

William O'Grady, John Archibald, and Francis Katamba. Contemporary Linguistics: An
Introduction. Pearson Education Limited (2011).

The content of the course is to be found in Chapters 4 and 5.
http://www.amazon.com/Contemporary-Linguistics-
WilliamOGrady/dp/0312555288/ref=sr 1 fkmr0_1?s=books&ie=UTF8&qid=1423734206&s=
1-1 fkmrO&keywords=contemporary+linguistics+an+introduction+candle+edition

6. Contact
Email: aaljamari@kfu.edu.sa
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Part I: MORPHOLOGY
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Lecture 1

INTRODUCTION

Words are important: basic units of language, unlike phonemes and syllables, words carry
meaning.

Unlike sentences, which are forgotten soon after we produce them, words are stored in a
speaker's mental dictionary or lexicon. Words are the fundament building blocks of language.
Native speakers of English know thousands of words such as read, language, computer, on,
whose meaning and form cannot be predicted.

However, once they know the meaning of phish (obtain sensitive information via email
fraudulently), they can recognize and construct words such as: phished, phisher, phishing, and
unphishable.

Thus, MORPHOLOGY is that component of the grammar which studies the structure of words
to account for the knowledge that native speakers have about their own language.
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Native speakers know how to segment a string of sounds into words when they write, for
instance, so then: What is a word? How can it be defined?
Linguists define the word as the smallest free form in a language. This means that it can occur
alone and in different positions in the sentence as well:
(1) What creatures do children find most fascinating? Dinosaurs
(2) Paleontologists study dinosaurs
Dinosaurs are studied by paleontologists
* Dinosaur (=s) is extinct. (-s is NOT a free form)
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MORPHEMES
Like syllables and sentences, words have an internal structure which consists of one or more
morphemes.
A Morpheme is the smallest unit of language that carries meaning. For example: Builder is
made up of build( construct) and-er(one who builds). Houses is made up of house(dwelling)
and —s(more than one).
One-morpheme word is said to be simple and two or more morpheme words are said to be
complex. Ex: hunt, hunt-er, hunt-er-s.
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FREE and BOUND MORPHEMES
A morpheme can be either free, when it can stand alone, or bound, when it must be attached
to another one. Ex: boy vs. —s
A free morpheme in English can be bound in a different language. Ex: head and *fi (in
Athapaskan, an Amerindian language). In this language, this morpheme is bound, sefi,
meaning my head.
Conversely, a bound morpheme in English can be free in other languages. Ex, play-ed vs thaan
leew (eat + past in Thai)
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play-ed vs thaan leew (eat + past in Thai) :Jte

ALLOMORPHS
Allomorphs are the variant forms of a morpheme.
Example 1: the indefinite article in English has two variants: a when preceding a word that
begins with a consonant (a book) and an when preceding a word that begins with a vowel (an
orange).

4 Lol &l piial!
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Example 2: The plural morpheme —s has 3 pronunciations: [s] as in cats, [z] as in dogs, and [az]
as in judges.
Do not confuse spelling changes with allomorphic variation. Ex : e in create and ride is
dropped in creat-ive and rid-ing. On the other hand, there is allomorphy in electric / electric-
ity and impress / impression, where the pronunciation changes but not the spelling. [k] = [s]
and [s] = [sh]
S WS [H] 3¢l dogs 3 WS [3] « o8 cats 3 WS [w] 18k &My Bl —s ezl pie 912 JUe
z>judges
riding 9 creative § l2iud ride g create § e :Jbe .4l a)l Oluadly 48 sl o Ll Y
[sh] / impress [s] ) 9 (electric-ity [s] / electric [k] ) § 4dpo Olniie Jla ¢ Sy &b e
DYl § e o9 kil das b & @il Cu> (impression

ANALYSING WORD STRUCTURE
To identify the internal structure of words, we need not only to identify the component
morphemes but also to classify them according to their contribution to the meaning and
function of the word.
Roots and affixes: Complex words consist of a root morpheme and one or more affixes.
The root is the core of the word that carries the major meaning component. Typically, roots
are lexical categories suchas N, V, A, or P. N=Noun, V=Verb, A=Adjective,
P=Preposition.
Affixes are NOT lexical and are ALWAYS bound morphemes. For ex, -er in teach-er (V+er =»
N) Af=Affix
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Below are examples of the internal structure of some words:
OIS and sl &) e Al b Lud

N A N Vv

/ \ / \ / \ / \
Vv Af Af A N Af A Af
| | | | | I | |
Teach er un kind book S black en
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AFFIX TYPES: There are 3 types :

1. A prefix is attached to the front of the base. Ex. De-activate, re-play, il-legal
2. Asuffix is attached to the end of a base. Ex. Faith-ful, govern-ment, hunt-er
3. Aninfix, which less common, occurs within another morpheme. For example, in
Tagalog, (the language spoken in the Philippines), we find: bili = buy, the past form
of which is b-in-ili =9 bought.
BEWARE! —ish in boy-ish-ness is NOT an infix.
:bleil B s Foeked! ol
De-activate, re-play, il-legal :Jte (4wl &) Suc @)l dodies §b DIl §>Y )
Faith-ful, govern-ment, hunt-er :Jts .(4wlud) LaKJ1) sucld)l ;50 3=b dolgdl 3N Y
aal)l) Il § cdliadl Juww Jo .5)3T Ad o (o A3y gt JBT (o (g &l oud 3> Y
b-in-ili & bought » 3y oWl Lauas ¢ bili P buy I ((addl § dedsiune]!
Al (po> 3>V o boy-ish-ness §—ish 14|

Arabic, and other Semitic languages, has interesting illustrations of infixing. Roots in Arabic are
consonantal. Various combinations of vowels are added, including in between consonants to
mark grammatical contrasts such as: Kataba = wrote, kutiba = has been written, aktub =
I write/am writing. One way of representing these facts is by assigning vowels to a different
tier, level :

Baas (b dpyal) 3 Hgdanl Al pess (@ Ol plaia ) Baie Aol Lgad ¢ (5531 dnoludl lallly eyl
S 570! el Sammd ASLudl B9yl oy I3 (Lo ecoyddly Aladl L3y (0 dilisee cMLSLAS L3 &Sl B9y
dalises 36 Ggime ) Alall Oyl pund @yb e (B @lasl 0n Jied) iy diyb ST oG8 (S g S

Af

/ \
Kutiba

\ 1/

Root ("write’)
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PROBLEM CASES
English morphology is said to be word-based. Consider the following: re-do, treat-ment.

Most complex words are like these two.

Not all languages are like English, Spanish and Japanese; verbal roots are ALWAYS bound
and cannot therefore stand alone. Arabic is also like that.

English also has a number of bound roots such as unkempt (unkempt hair) which does not
break into UN+kempt.

Other words such as inept were borrowed into English from Latin ineptus (unsuited).
Today, this word cannot be broken up into * in-ept.

Another class of borrowed words from Latin via French is represented by the following:
receive, conceive, perceive, permit, submit and commit. Each potential division of the
word does not have a meaning of its own. Re- = 'again’ but — ceive = ? Consequently,
these words cannot be segmented.
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Lecture 2

Derivation
O]l

INTRODUCTION
Some English derivational affixes
= Complex derivations
= Constraints on derivation
Two classes of derivational affixes compounding:
= Properties of compounds
= Endocentric and exocentric compounds

dediiel!
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Derivation is an affixation process that forms a word with a meaning and/or category distinct
from that of its base. Ex. Sell+er = sell-er, V+er = N, NOT to be confused with tall+er = tall-
er, A+er =PA. Here er is inflectional.

Lewlal (30 (2 (@ 5 e Binae 18 9l sne g dal JS25 (&1 3Lt Ak 5o UL
€ dioterctall-er € tallter ypy 4y Ll pus 3y ¢ ol € Jodter, sell-er € Sell+er :Jbe

Ao
Ao pal per L
Fig. 1 Derivation Inflection
N A
/ \ / \
vV Af A Af
I I I I
Teach er tall er

Once formed, derived words become independent lexical items and receive their own entry in
a speaker's mental dictionary. With time, words acquire new meanings. Ex. Profession means
‘career’ rather than 'the act of professing'.

oSl Ml o goldll (3 ol lglgs (Bl5 5 Adtins drazman olic el diidwdl LI (JSad Of 3,20
'the act of o Y (dugs)'career’ (&5 (4ge)Profession :Jbe 5z Jlae O eSS B gl an
(BlaseYl J=d)professing'
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SOME ENGLISH DERIVATIONAL AFFIXES
Examples of derivational suffixes:
fix-able, refus-al, claim-ant, teach-er, shoot-ing, impress-ive, treat-ment, king-dom, faith-ful,
presidet-ial, arab-ian, optimist-ic, hospital-ise, brain-less, poison-ous, tall-ish, active-ate,
black-en, stupid-ity, slow-ly, happi-ness.

Ayl dalll (§ LY Clidoll (yany
T Al Bgrge keI :4BURL| 3Ig) o Aol

COMPLEX DERIVATIONS
Some words require multiple levels of word structure as in Fig. 2 below:
Fig.2: A multilayered internal structure N
/ \
v o\
/' \\
A\ N\

/NN N
V Af Af  Af

| | | I
Act ive ate ion

G sy 1AL Y Z3gadll @ Jbl 92 LS Al el (3 Bodaie Olidb (il LSl jan Bldaoll GBI
Olddaodl duadie

This word illustrates a multilayered internal structure with the attachment of an affix to an

appropriate base.
Suaeld)l Canlid 32 Ly o Olidall Suaie (AS10 slo o g5 ekl 0da

COMPETING ANALYSIS
In some cases, the internal structure of a word is ambiguous between two competing
analyses.
Ex. Unhappiness

Fig. a. N Fig. b. N
/\ /\
A \ / N
/ N\ /] \
Af A Af Af A Af
I I I I I I
Un happy ness un happy ness
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) ol o 8l o i AalSl) A1l Al oY oxll s (§_ duand o] udoxs
The preferred analysis is the one in (Fig. a). Un_ is more attested as a prefix with adjectives
than with nouns. Ex. unable, unkind, unhurt but not *unknowledge, *unhealth, *uninjury.

P 1l slowdl ao puds liall go Llus 3256 ST daSge Un- a gdged! § 39250l 90 428l

CONSTRAINTS ON DERIVATION
Derivation is often subject to special constraints and restrictions.
For example, the suffix —ant can attach to bases of Latin origin such as combat-ant, assist-ant,
but not those of English origin such as *help-ant, *fight-ant.
A derivational affix may attach only to a base with particular phonological properties.
For example, the —en combines with adjectives to create verbs.
Ex. Whiten, soften, madden, quicken, liven, but not *abstracten, *bluen, *greenen, *angryen,
*slowen.
This suffix can only combine with a monosyllabic base ending in an obstruent (stop, fricative or
affricate).

SUELLY! (Lo didg paall 3 gl
oo B Ol aclgd e Gaal of (S —ant Lledl 3> Slis .ogusdlly Lol 3guill pas L W @lanayl
*help-ant, *fight-ant Jis =Y L1 Jesol 0 e g « combat-ant, assist-ant Jiws &5y J gl
Aigo diguo aibase bucs ] Jadd guaily 48 Flaayl 3>y
sl rsat) Olisall o doiy —en Dlgd! 3V 5 Sl
*abstracten, *bluen, *greenen, _«J N Whiten, soften, madden, quicken, liven :Jtws
*angryen, *slowen
obstruent (&l L) saclall dilgs § Jadlll gatall Lol (g din aedl Jadd oSop i Llgdl 3=
[(affricate o fricative «stop)

TWO CLASSES OF DERIVATIONAL AFFIXES

. Class 1:
They trigger changes in the consonant or vowel segment of the base and may affect stress
placement.
Ex. —ity san-ity [ei] changes to [i], from sane to sanity.

-y democrac-y [t] changes to [s] and stress shifts from ‘democrat to de'mocracy
—ive product-ive stress shifts from pr'oduct to pro'ductive.
—ise public-ise shift from [k] to [s] from public to publicise .

ALY Oldsedad! oo (i

iV dal N
Laiall g e 1555 Loy (danlyl LaSN)BAela)) (po Jino platio 9f oSl adadie (§ Wi I S35 Of il (50
.C)_y,aJ\ BJ}B Lg
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NEXI Caoly (i 1aals ¢S san-ity —ity «
(w5900 Cmuoly Wil ,Sge0 L2ali 38 democracy -y <
LIS139 1 ool CSIsd 1aall <08 product-ive  —ive ‘
bl Couoly b Laals ¢S public-ise —-ise

. Class 2:
a) These tend to be phonologically neutral, not affecting the segmental makeup of the
base.
Ex. Prompt-ness, hair-less, hope-ful, quiet-ly, self-ish, defend-er.
b) These usually cannot intervene between the root and a class 1 affix.
Ex. Divis-ive-ness, fear-less-ness, but not *fear-less-ity.
Aol )l N,
(L Y AaBSJ1) Baelal) dadad)l & e 35 Y dliguo Bualxe 0955 O 0 JusS (a
Prompt-ness, hair-less, hope-ful, quiet-ly, self-ish, defend-er :Jt=
J9Y & 359 ydadl e J35 Of oS Y Bale o (b
*fear-less-ity ywJ ;N Divis-ive-ness, fear-less-ness :Jtws
COMPOUNDING
Compounding is a process of word formation in English which consists in combining existing
words to create complex words.

u.aSﬁ"l

BSudae OllS cLadY 83 g2 gadl OIS (s xozx]! S Jie (@ eyl Ll (§ dasl JSad ddas g CuS A
The resulting compound may be a Noun or a Verb or an Adjective. Ex. :

1l Ao 91 Jad 9l el 0550 A8 LI Sl

(1) N N N N
/ \ / \ / \ /\
N N A N V. N P N
fire engine green house jump suit in- laws
\" \" \" \"
/ \ / \ / \ / \
N V AV vV V P V
spoon feed dry clean break dance drop kick
(2) A A A
/ \ / \ / \
N A A A P A
nation wide deep blue over ripe
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Note that the rightmost word determines the category of the compound. Thus, Greenhouse
is @ noun because it ends with the noun house. Spoon-feed is a verb because it ends with the
verb feed.

The morpheme that determines the category of the entire word is called HEAD.

feed-Spoony .ewb ik 4Y ewl 32 Greenhouse O 1iSag .CSyall d5d 345 (padl (928l LI O Ja>Y
oy (i 4 Jad 5o
{(0sh)) HEAD LelsST dalS)1 dsd suss 3l dxdpall e 3l

Compounds can combine with other words to create even larger compounds. Ex.
e ST UShe (313 (6,31 Wl e LSyl oy gl oS

(3) a. N b. N c. N
/ \ /\ / \
N N N N N N
/ N\ /N \ / N\
dog food box Sunday night concert series V. Af N

elect ion date

Notice how compounding interacts with derivation in (3c)

PROPERTIES OF COMPOUNDS
English orthography is not consistent in representing compounds. They can be written as
single words, or separated by a hyphen, or simply separate words.

LSyl aSbas
9l o(-)db d gsal0 o9l Bd>lg dolSS oS ol oS LS el el ‘3 RN ‘"‘3131-’“}" dall é 5 Acligd
Aadio Ol dbluw

As for pronunciation, some facts MUST be noted: Adj-Noun compounds are characterized by
more prominence/stress of the first compound: " greenhouse = "a glass enclosed garden"
vs. green house 'a house painted green’, ~ blackboard = "a chalkboard "vs. black board ( a
board painted in black).

Tense and plural markers cannot affect the first element in the compound. Ex. * the player
dropped kick the ball vs the player drop kicked the ball.

oo ©gaall B Jarall/1hg 3 AST (el — Ao )l LSye 51035 1 35lasell (ams 5N cpo Y ¢glaill) Al el
0L E9uan Jiie “green house Jrlis "didlie 4> du>" € " greenhouse :J9V el
M9 0glb Egmas o) black board J\is "8)9." € " blackboard " 23!

P 10l . Syall § U9 paiall e 35 O 0Sar Y gasally Jaddl Aio
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ENDOCENTRIC AND EXOCENTRIC COMPOUNDS
In most cases, a compound denotes a sub-type of the meaning/concept denoted by the
head/rightmost element in the compound.

EXOCENTRIC 9 ENDOCENTRIC &LS,s

S3all § paddl (98l /) Ay A Jays 05480/ (G20 0 (£50 £55 e U Sy 50 o) lans §
Ex.:

» steamboat < a boat powered by steam.
» airfield & a field where airplanes land.
»  fire drill & practice in case of fire.
Such compounds are said to be endocentric.
:JGs
DBl e pgede )8 € steamboat ¢
ollall 4.8 lags Al Jixl € airfield <
(&> Y| Al (§ oyl € fire drill -
.endocentric ows LSyl oda e 3l

In a smaller number of cases, the meaning of the compound does not follow from the
meaning of its compounds.
ALSpe (aae aiy Y CSyell gre cVlel e S8 s (3
Ex.: )
» redhead < a person with red hair.
» redneck < a person, not a neck.
Such compounds are said to be exocentric.
:Jle
ol yain yasd € redhead
A3y g (i € redneck <
.exocentric (oo OLSyall oda e 3l

Exocentric compounds allow the suffixation of —s to irregular plurals, the endocentric ones do
NOT.
Ex.:

» Endocentric: wisdom teeth, policemen, oak leaves.

»  Exocentric: bigfoots (mythical creatures), watchmans (a type of portable TV).

zowd Y Endocentric LSy oS (dewld pe pox duo zmad —s Ll 3> zewd Exocentric oLSy
U

:Jle

(gl B3lysl) oak leaves (bl ) policemen «(Ja)l w3 ~>) wisdom teeth :Endocentric
(daal) L lald! e £93) watchmans «(4)ghaw! @B glss) bigfoots_: Exocentric
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Lectured
INFLECTION

What is INFLECTION?
It is a change or modification in the form of a word to mark grammatical. For examples,
languages contrast plural and singular nouns by the addition of a plural affix such as —s in English
as in book ~ book-s. (The base form to which an inflectional affix is added is also called a stem.

o paill 9 b

e 028U GLlI (Ul Juw e dalll aelgd (Lo Gadais Lo Sdoed duuling oS S (§ Jadad 9l s 4]
suclall K& .book-s ~ book § LS L=yl dalll § —s Jie ezl 35V 9 A8Ls| 53, e eudl) 350001 9 pocnd!
(ddl)stem o Ll lgd (fopatll 5201 23L] @iy )

INFLECTION IN ENGLISH
With only 8 inflectional affixes, English is not a highly inflected language.
English inflectional affixes:

= Nouns: Plural —s as in books ; Possessive (genitive) —s as in John's book.

= Adjectives: Comparative —er =» the smaller one, Superlative —est = the smallest
one.

= Verbs: 3Person simg. Non-past —s =» He reads well. Prog. —ing=>» He is working.
past tense —ed =» He worked; past participle —en/ed =» He has eaten/worked.

Didouyl Al s il
4 s g e A a5 Aa) ) Dol Al ¢ A s il A s
Al Al s Callioele
.John's book 3 S —s (4d] Blas) Sheds ¢ books 3 S —s aead! slewsdl =
i) € —est Juadill ¢ o yiuol € —er Byladl :Sliall =
¢ He is working. € Prog. —ing ¢ He reads well. € oWl Cuwd —s .CIWI Bl i8I =
He has eaten/worked. € —en/ed Jaill &JWI dauall ¢ He worked. € —ed ool diuo

INFLECTION VERSUS DERIVATION

4 criteria are often used to distinguish between inflection and derivation affixes.

ALY blie L paill
Blanayl OlasYy Capaill GlasY oo i) W adsuid ol £ s
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(1) Category change:
Inflection does not change the grammatical category of the meaning of its host.
145l i (V)
Bl gaell goudl L) i Y Ca paill

N Vv
/ \ / \
N Af V Af
I I I I
Book s work ed

Derivational affixes do change the category and meaning of their host.
Blasll aaall g L)l pds ddlaxad! iUl

A N Vv N
/ \ / \ / \ / \
N Af vV Af N Af N Af
I I I I I I I I
Heart less work en hospital ise king dom

(2) Order: A derivational affix (DA) must combine with the base before an inflectional affix
(1A); i.e., Inflection applies to the output of derivation.

N N
/ \ / \
N\ N\
/N \ / N\
N DA IA N IA DA
I I I I I I
King dom s *king s dom

(Al (Y)
ZW ) G el Gadaiy 451 (61 ¢ (IA) dnio ) da>DU b Bl po oS OF azmy (DA) ddlaissyl da>M|
RS

(3) Productivity:
IAs have few exceptions, comparatively. DAs typically apply to restricted classes of bases.

Ex. Modernize vs *new-ise ; legal-ise vs * lawful-ise ; Confine —ment; align-ment; treat-
ment; * arrest-ment; * straighten-ment, etc.

dus Y (V)

el gl (e B3gde aliuds e Bale gudad ABlaial i lowd (Aldd oilelitin g du naill ola=DUl
T dbe
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(4) Semantic transparency :

IAs contribute transparent and consistent meaning to their host.

Ex. books, trees, cats or walked, played, talked, etc.

DAs do not contribute consistent meaning.

Often it is not possible to predict the word's meaning from its parts.

Ex. Actor is someone who acts but a professor is not so who professes. Government can mean
institution as in government's program but it can also mean act of governing as in
government by the people.

AVl ddlaidl (¢)

P 1Jle . Claall @3Me 9 Blads gaey @2lud dxis patll sz

Mo (paey ealud Y ddlanayl olasMI

gl e Aa g 54l oSeadl a2 e T LYl g0 A58 4

SPB plas (x5 O Sy AagSodll o Jad (30 8395-lo ) Sl AaS ST Jiow S el 9o Jiowll 1o
! B o da S ( Sodl Jad sns oF Ll Sy S0 Ao gSoell JalaskS

OTHER INFLECTIONAL PHENOMENA
Sy &y paill (bl glall
A CASE: It is a change a word's form to mark change in its grammatical function ( subject,
direct object, indirect object, and so on ). English does not mark case on noun, but it does
on pronouns; ex, he vs him, he met him vs * him met he.
23T I aenall Jeladl alall Jelall ¢ Jelall) dgmdl Wradss 3 pudd! ddoed &S S5 § i g0 1l A
el e aiS)g ¢ Lol D> e dadle Y Al

Standard Arabic marks Case on nouns: (nominative, accusative, and genitive )
Akala Omar-u t-tuffaahat-a  fi |-maktab- i

Ate  Omar-nom apple-acc in the-office-gen

'Omar ate the apple in the office. '

(4] Blaally cemaidl ceudl) islawdl Al dass (2epndll duyall dsll
Sl § ALl yos S

A AGREEMENT: Occurs when a word is inflected to match certain grammatical properties of
another word ( t-taTaabuq). In English, it is limited to the third person singular of the
simple present; ex, He work-s very hard.

3 (3Ua5) 5531 4aK (y0 dipan D> pallas go sl Al Colye] ddle a6 Lodic Causny 14881001 A
Jazr dz Jamy ] 1l Jadl_pploll y yiall CIBN el e yaidy 4518 ciplniyl sl
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PROCESSES RELATED TO INFLECTION
D Aaidb duaiel) Oldesl)

A Internal Change:
A process that substitutes a non-morphemic segment to mark a grammatical contrast.

Ex. sink ~ sank (ablaut); goose ~ geese (umlaut). The change explained historically is as
follows:

a. Old English form : /go:s/ d. Loss of the plural suffix /goe:s/
b. Old plural form:  /go:s-i/ e. Other change /ge:s/ then /gi:s/
c. umlaut / goe:s-i/

Note that internal change is NOT infixing. There is no base form {sg}, {sk}. Infixing and
internal change show that morphology is not always concatenative, meaning that affixation
does not always apply sequentially.
AW i)l A
il zho| sk} ¢{sg} sclall i dzr g Y LBdgll Al ‘”g (L?fﬂ ras) Y &|J|M| ol asy
G Y sl o (m 1 ilid pall 3lox] Lsls ud (S CBpall SIS salay Il uaally a1 (§ (20553l
2L Lasla

A Suppletion: it occurs when a morpheme is replaced by another which is extremely
different to mark a grammatical contrast. Ex. Go " ~ went and was ~ were.

Sometimes it is difficult to distinguish between suppletion and Internal Change. Ex.
Think ~ thought, seek ~ sought. Often, it is treated as an extreme form of internal
change or as partial suppletion.

(97l (bl e dadle aug) lolad Lalisss (@19 (§y3-b dd po Jluiul ey Ledis dodzes sl A
.were ~was 9 went~ Go :Jb»

.sought ~ seek « thought ~ Think :Jtws . J31W sy Jlakiwdl e el casall o 0950 bl
35! Iyl of Sl il I8l o Bylate S @il e Jola ¢ OLaYl (0 S 3

A Reduplication: it involves the repetition of the base form or some part of it.

In Tagalog, takbo = run, while tatakbo = will run (partial doubling of the base).
Ao g5 of BASR JS H1ySS (e (okaiy & £y S A

(8uelal 483l daclias) will run € tatakbo Ly run € takbo «§4)le ! daly
Olgell 7o (o Ugauidy # Ol 1 ddla)l Gkl # Golaadl @) ¢ ddUall Jos H9)




A Tone placement : Tone is used in some languages to mark grammatical contrast. Ex, In
Mini-Bili, a language spoken in the Congo, we find the following contrasts: zi =& ate,
while zi 2 will eat.

53595 3 L2 0988 A3 ¢ mien 3 1o (S 9ol (el 3t SLAI Gany (§ i Bl 181 koS A
:JUWI el A
.Zi P will eat \~w zi 2 ate

A Conversion: Often considered to be a type of derivation, it involves a change in meaning
and category. It is also called zero derivation. Ex., the poor, the rich, the sublime, (
Noun ~ Adjective), up the price ( preposition ~ verb ), dirty ( verb to Adj), run (verb ~
noun), butter ( noun ~ to verb).

Conversion in two syllable words is often marked by a shift in stress. Ex., implant (N) ~
im’plant, “import ~ im port, ‘present ~ pre sent.

1Jle . BUELEYI BySS (s 41 LS A5l 9 (anall 3 i oty 4 (LYl oo g5 na WLE 1amall B A
(ol ™ J28) Sy (Ao ] Jad) Franiio o(Jd ~ 2 By>) yacadl 28 (Ao ™ ousl) @l ¢ G ¢ )]
) ) (=8 dI™ ewl) 85
Ogpall B aaall § a5 5ea5 e W pahaiall Gl Ol § gl G

A Clipping: A process whereby a polysyllabic word is shortened by deleting one or more
syllables. Ex., Names, Ron ~ Ronald, Liz ~ Elisabeth. In casual speech, prof ~ professor,
phys-ed ~ physical education. Other forms are much more widely spread: ad, lab,
demo, etc. Recently, we find internet-inspired creations such as blog (website log of
events).

~ 09y eslawd)l Jlis 58T o abolie o> 33,k e aboliall “duaio dalS Hlais (WS oo @iy ddas 1@l A
> I8l bS] SEHS ™ D) 1 () geundy ™ g 2ladl Codmdl § . Canll] ~ W g

A (30 Blgiane Olel LY dos B sV L5931 § 0,5 T U] g el el gy Blas e ST 8 diiie
(DN 28 gall Joxaw -digae) Jab Jie

A Blends: They are words that are formed by blending non-morphemic parts of two
already existing words.
Ex., brunch = breakfast +lunch, smoke = smoke + smog, infomercial = information
+commercial, ginormous = gigantic + enormous, bit = binary digit, modem = modulator +
demodulator, etc.

P e . 2l (pie3ld il oo &féﬁaﬂﬂ.éjb.?iﬂ T @b os SKal @ ol p izl A
BY A e padaie (3T an lgrieg CarwliSy Aol (10 adaiie Jgl =(Jidiily

Olse i 7Wlo (o Lgaudsy # Ol 1 ddlall Gads  # Golaadl @y &)l Jos #)©)




A Backformation: Creates a new word by removing part of an existing word.
Ex., Resurrection = resurrect, donation = donate, enthusiasm = enthuse, etc. Ex of new
recent such creations are: liaison = liaise, allegation = allegate, administration =
administrate, aggression = aggress.

P dbe a3 AolS (yo s3 A Gy (ye Bupdlr AalS iy 3 SN LS A

A Acronyms: They are formed by keeping the initial letters of some or all the words in a
phrase and pronouncing them as ONE word. Ex., UNICEF = United Nations International
Children's Emergency Fund, NATO = North Atlantic Treaty Organisation, etc.

LalSS ogitkaig Byl § Ll S of paany oo J991 C3pad1 e Blasdl gyl oy 1580 10 paiseall A
P 1l Bulg

A Word coinage: Common for names of products. Ex., Kodak, Teflon.

Oglas (1398 1 ke . liiall slawd Sl Bad> dalS A

MORPHOPHONEMICS
&b pall iU G guall S

Morphemes and their allomorphs

Is every morpheme pronounced the same in all contexts? The answer is NO. Many
morphemes have two or more pronunciations, called allomorphs. The choice between them is
determined by the phonological context.

48 pall gl pdio g LS pall

0n 5151 iy ) Sl g otall .Y Gl Sl ppnr § Lyl iy S5 Ao 5 U
)l Bl 53,1 5 Loy SLasYl 1o w3 o ClpRRS (e 3] iyl

Examples 1 : The plural in English
How is the plural morpheme in English formed?
Answer, by adding —s to the singular form. Consider: cats, dogs, horses. As is well known,
English spelling does not reflect pronunciation.
This suffix has three allomorphs: [s] as in cats, lamps, [z] as in dogs, days, and [iz] or [3z] as
in horses or judges. The pronunciation is predictable on the basis of the phonological
context:

= Sibilants ( hissing sounds) such as horse, rose, bush, church, judge, call for [iz]

= Otherwise, when preceded by a voiceless consonant, [s] is used as in cat, rock, cup.

= Otherwise, when preceded by a voiced consonant, [z] is used as in dogs, days, birds.

Olgell 7o (o UgauidY # Ol 1 ddla)l Gkl # (Golaadl @) ¢ ddlall Jos £4




Ayl Aall § el :Jg¥1 i)
Tl Ll (§ Adpall el ik oS
GlL DYl T Bgyae 92 Sy .cats, dogs, horses syl (s 43 358001 JSail) —s 43LbL ol gl
Sl S Y )
3815 dogs & S [5] [2]une lamps « 36 cats § LS [ ] [5] 148 m0 ilpdcie S & la dilgd! 3>
3>\> judges < ;)98 horses 3 S [] [az] [iz]s <323 days
gl B! polisl e a3 50 Sy
liz] w5 horse, rose, bush, church, judge Jis (509! dugeud) pauall Clgd =
.cat, rock, cup 4 LS pusing [s] dd Ggro Y (Sl By dig boie celld BN =
.dogs, days, birds 3 S pasciu [z] «SHIAB! Sbo By diu lodie (el M- =

Example 2: How is the past morpheme -ed realized phonologically? [t], [ad], and [id] or [ad]

Is Allomorphy a matter of phonological conditioning only?

Yes, as in the cases above, but NO for others.

Consider the word lie. It ends in a vowel, a voiced sound and therefore forms its plural lies
with [z]. However, if we replace [z] with [s], we get an actual word lice, the plural of louse.

Grammar also accounts for allomorphy in English.
Consider cliff and laugh. Both form their plural with [s], cliffs and laughs, but wife and loaf do
not, *wifes, *loafs are ill-formed. Their plural is wives and loaves.
Similar words that change their voiceless consonants f, s, th to voiced counterparts v, z, dh are
: knife ~ knives, life ~ lives, path ~ paths.
Notice that the change is restricted to the plural morpheme: "my wife's car" does NOT
undergo any change.
[2d] 51 [id] <[ad] ¢[t] $Liguo -ed o2l &b o 2ol @i i 1 QWIS
§1add 435 g0 Al Dlins 48 pall Ol paiall Jo
LS)->'T OV Y USJ oMl 5)55..'\,0.]\ OV L} LQSc(wu
[2] g lies gord! g JWhy GilAR] igaog cdle By (il lie 4aKS Hlas)l e 5
Jouse ;o poxd) clice &dad &S e Juaxi ([s] an [2] WIai] 13] cclld pog

AV UL AS guall Ol paial) @igs Ladl delsall

s loaf 9wife ;< laughs s cliffs <[s] a0 grax> diue JSiS LadS laugh 3 cliff slae) a3
Joaves s wives lgrax> . Soxi_né QSIS *wifes, *loafs

¢ knives ~ knife : » dh ¢z cv &5 9:a)) (gLl J) th ¢5 ¢ f &3gu0 psdl diSludl gyl ps3 2l dglie OLE
.paths ~ path <lives ~ life

5 Y maso Y "my wife's car' jpezdl dd o e ety il OF Lo

Olse )l 7Wlo (o Lgauidy # Ol 1 ddla)l G # Golaadl @y 1 4l Jos 2




Lecture 14
MORPHOLOGY PRACTICE

= EXERCISE 1: Circle the correct answer in the following multiple choice questions:

(1) Morphology is the level of grammar concerned with the ...............
a. Structure of words
b. Stricture of words
c. Status of words
d. Structure of worlds

@ The association between most words and their meanings is purely ..............
a. Controversial
b. Conditional
c. Central
d. Conventional

© When we derive one word from another, we ..................
a. Change its class, for example, from Verb to Noun
b. Change its tense, for example, from Past to Present
c. Both of the above
d. None of the above

O Roots are...............
a. NOT always free
b. Always free
c. Both of the above
d. None of the above

O A compound is a word that contains ...............
a. One prefix and one word
b. One suffix and one word
c. Two root morphemes and one word
d. Two free standing forms

O ... is a morpheme that makes the most significant contribution to a word's
meaning.
a. The phoneme
b. The derivational morpheme
c. The inflectional morpheme
d. The root

Olse )l 7Wlo (o Lgauis # Ol 1 ddla)l Gl # Golaadl @y 1 4l Jos 2




Q... is some kind of resemblance between the sound of a word and what it
denotes/means.
a. ldiom
b. Proverbs
c. Onomatopoeia
d. None of the above

©® suppletion occurs when a word is represented by two or more .................. roots.
a. Different
b. Similar
c.Bothaandb
d. None of the above

© choose the group of words that result from derivation
a. Cry, cries, cried, crying
b. Kind, unkind, kindness, kindly
c. Tooth, teeth
d. None of the above

X EXERCISE 2: Divide the following words into morphemes and morphs.
Examples: (i) truth morphemes: {true} {th}
(i) barefoot morphemes: {bare} {foot}
(1)
a. research {re} {search}
b. butterfly {butter} {fly}
c. holiday {holi} {day}

d. morpheme {morph} {eme}
e. phonology {phono} {logy}

X EXERCISE 3: Some words in (2) contain suffixes. Identify the suffixes by circling them.
(2)
a. happiness
b. freedom
c. flowers
e. brother

e. blackboard

Olaelll 7o (o Lgauidy # Ol 1 ddla)l Gl ¥ Golaadl @y 1 ddlall Jas 24




X EXECISE 3: Some words in (3) contain prefixes. Identify the prefixes by circling them.

(3)

a
b

(@)

d
e

b.

o O

a

. Unable

. discourage
. establish

. receive

. strawberry

X EXERCISE 4: For each word below, indicate whether the word is morphologically simple
(S) or complex (C), or includes an inflectional affix (IA), or includes a derivational affix
(DA) by circling the relevant answer. S => simple, C => Complex, IA => infl. Affix, DA=>

Deriv. Aff.

. rider S C IA DA
colder S C IA DA
silver S C |IA DA

. lens S C 1A DA

. legs S C 1A DA

X EXERCISE 5: (i) Identify the root in the words below by underlining it; (ii) State the

syntactic
category it belongs to.

Example: friendly: friend (Noun)

. lamps lamp (Noun)

b. kindness kind (Adjective)
c. hinted hint (Noun)

d
e

. players pray (Verb)
. grandfathers grandfather (Noun)

Olgel wWlo (3o Lguddy # Ol 1 AUl Gruds
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Lecture 5
Part II : SYNTAX dlozell 2L
The Analysis of Sentence Structure  dlezel dds Judxs

What is GRAMMAR?
It is a theory of language which attempts to characterize the structure of language.
All languages have a grammar:
= All grammars are equal because ALL languages are acquired unconsciously by all
children and at an early age. Indeed, a child is capable of learning any language. In other
words, humans are endowed with a Language Faculty, an initial and universal program,
that enables them to acquire any language.
= All grammars are alike in basic ways = UNIVERSAL GRAMMAR.
= A grammar is the characterization of the tacit TACIT/IMPLICIT/UNCONSCIOUS
knowledge that native speakers have of their own language.

T hallg gl uelgd 2 Lo
sl Ay Loy Jolos (U1 Aall doylas gl
RPSPEVIRVRCHEY|/ POV
o 39 JbIl e Jd (0 (£9 095 l@ludS) @iy Ll apezr OY Digludio B pally goxidl delgd apexr
A eliy 529 (Al 4B & cgdse Al OB 5y Byleay .as) (STl e 508 Jaall ablgll (3 .5,
Y LST OludS! e P.é.«in) S g_ﬁ"JLCﬁ
Alle uelgd € Al Bylay dgilinio e Gpally gill dclgd an
Aol ogia) § onab ) S (1 Ayl (£9 093 1 pU / God Goud Lo g 90 Aslll uclgd

The Organization of the Transformation Generative Grammar
A Grammar in this sense is essentially an INPUT/OUTPUT system. It consists of:
+» LEXICON: a mental dictionary (information on words: pronunciation, form, and meaning).
+» COMPUTATIONAL SYSTEM: operations that combine and arrange words in particular ways.
Two main modes of operation/structure building: MERGE and MOVE.

Merge is operated on the basis of information from the Lexicon and a theory of phrase

structure known as “X” theory.

As for Move, it is the operation of displacing elements around in a structure.

B allg 9| uelgd) dud gl J o) dodrie
1o Gl 9o . ZhBYI/JSYI U Lulud 98 (saedl 142 (3 CBpally gl delgB
.(@Mj\g ¢ &»3 cé.la.‘«.)\ ul.o.su.c C)Lo}l.ua) ul.a_c u*ﬁ-"@ :‘mau.d‘ 0:0
Tl gl slo/Adan) (pdy (raudg dgae Gyl GBI G359 pead (3 Oldeal) t gl pllas
Jadly

MXM Ayl el A3gyaall Byluadl S duylai g ezl (o Dloglan (el e lghiaid @iy godd]
Al 3 moladl Ja5 (§ Aiaal) kol (28 ¢ Ja Lol L]
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CATEGORIES AND STRUCTURE
Words can be grouped into a small number of classes called syntactic categories.
This classification is based on their meaning, type affixes they associated with and the
structures in which they occur.

ddlg o)l
Augass S el Sliddall e Jalb sie U] ledSl Cidiual oS
Lasd B 2 Slglly Lgma 1a3)3 2l lEsMI 63 ¢ Wl e Uiyt 1o i

CATEGORIES OF WORDS
Categories of words are classified as either LEXICAL or FUNCTIONAL.

¢ The Lexical categories are Nouns(N), Verbs(V), Adjectives(A), Prepositions(P) and
Adverbs(Adv). Ex. N: John, Ali, courage, book; V: come, go, discuss; A: good, bad, tall;
Adv: badly, quickly, hard.

+* The Functional categories are Determiners(DET), Degree Words(DEG), Auxiliary
Verbs(AUX), Conjuctions(CON)), etc. Ex. DET: q, the, this; DEG: too, so, very, more,
quite; AUX(Modal): will, would, could; AUX(non-Modal): be, have; CONJ: and, or,
but.

wggiamu\ubﬂﬂwubéw@
M Jo (Adv)dlylg (P)y=> Q9> «(A)luo « (V)Jadi c(N):-\A.w‘ P drozaadl LA ¢
(CONJ)OLABYI e’ ¢(AUX)Buelue Jladl ¢(DEG)lalSdl dozyd ¢(DET)slodome (o dxils ol olidll
™~ db«o
One Source of confusion is that one word can belong to more than one category. Ex. Near and
Comb.
1. The boy stood near(P) the fence. 4. The woman found a comb(N).
2. The runners neared(V) the finish line. 5. The boy should comb(V) his hair.
3. The end is nearer(Adv) than you think.

By 435 (ye ST ] o5 OF Sy B>lg S OF 90 (el (g d>lg s

OF oSasg ARSI Aol 3 WS JadS (30 o (Sang ( d 991 dlaxnll 3 LS yor By (36 O Sas Near 4a85 :Jlis
QLS JaiS 36 0f (Saug cdaslyl Aol § LS ol 36 01 Sew Comb 4aK 401 dodd] LS JlxS” 36
Ao 51 Ao

How can we determine a word’s category?
By considering its meaning, its inflections, and its distribution.

¢ dolS A0 wudx LiSes LS
Agininals dlgilis ol daline J) ol IS e
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MEANING:
- Nouns name or denote entities; Ex. people (Ali, John) and things (book, desk).
- Verbs denote actions (run, jump), sensations (feel, hurt), and states (be, remain).
- Adjectives designate a property or an attribute of the entities denoted by the noun,
as in tall building, tall man.
- Adverbs designate properties and attributes for actions, sensations and states
denoted by verbs. Ex. Manner Janet left quickly. Janet left early.

(o cliS] sty (92 o Ae) Lol Jle . OULSI e J of (ol slowd)l -
(Ao o) IV (850 pmde) oYl (145 ¢ pa9) JadY e Jos JwdYI - -
hsb Uz e sl (uo B S cpunl dlalgy 500l QUL 0 daws gl Ao s s Olasall -
JdYl e A1 J1g5Yls ooy (JddU Slowg Ao s cpas JIg>l - -

Janet left early. Janet left quickly. Zolud/ )l

However, meaning cannot always determine a word’s category.

Words such as difficulty, truth, likehood; do not refer to entities in the strict sense. Similarly a
noun such as push may denote an action in “give someone a push”. Further problems arise
with different categories having the same meaning such as like(V) and fond(A) Mice like/are
fond of cheese.

MM‘MLJULJL&J‘&‘M}’(W(QW‘)AAULQS W|MW|33MU|L;N31M|4&,UJ@
dalisen LS po Laks 5,31 Sl ."give someone a push" G deadllda (Je Ju5 18 (push) S ol Jiadbg
ol doydio [ cond OLAAI (A) pying (V) com Jie (gaadl uddi L)

INFLECTION:
- Nouns are inflect for plural =s and possessive =’s ; Ex. books, John’s.
- Verbs inflect past tense —ed, progressive —ing and 3d singular —s ; Ex. Arrived, arriving,
arrives.
- Adjectives inflect for the comparative —er and superlative —est ; taller, tallest, faster,

fastest.
However, even infection fails to provide a word’s category in some cases such as:
*intelligenter, *beautifulest. Also some nouns cannot be used in the plural such as:
*moistures, *braveries, *knowledges.

HE-Tpvvi]

John’s ¢ books :Jts —'s laillg —s pazd) (8,0 slewdl -

arrives «arriving « Arrived :Jts —s W\ 3,20)ls —ing paadll—ed (ool Jadll B pas JadYI -

fastest « faster « tallest « taller :Jtiw —est Juadil! dauog —er 4)liall daval B ad Olaall -
Fintelligenter, *beautifulest :Jie SV an § A8 &3 slac] § Jidy Canaill G el &
*moistures, *braveries, *knowledges :Jio gzl § pdind Ol (Ses Y slawedl (aams L
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DISTRIBUTION:

A more reliable criterion for determining a category type involves its distribution,
meaning what elements (especially functional categories it can co-occur with). For example,
Nouns appear with DET, Verbs with an AUX, Adjectives with DEG; Ex. A car, the book ; has
gone, will saty ; very rich, too big. Of course, we can also predict that the following
combinations are not possible: *the destroy(V+DET),

*very arrive(DEG+V), *will destruction(AUX+N).

(2!

G &ads ol Wbl dpls) oladl (2 le (oo ey dgadual e oot dia)l §o5 o] 484390 BB
(lere (ol OF S

AUl Ay ae Wilisally Basludl Jlad an JadVlg (DET wilsdoeall an slowdl jelai celld e Jlis
very rich, too bigfhas gone, will saty £A car, the book :Jt-

1Sas Countd AW Lo gazeall OF Ll §ai)l LiSay Y caalallyg

*will destruction(AUX+N) ¢ *very arrive(DEG+V) ¢ *the destroy(V+DET)

PHRASE STRUCTURE
Sentences are simply formed by juxtaposing words like beads on a necklace. Rather, they are
a hierarchical design/structure in which words are grouped into larger units called phrases. In
a sentence like: The doctor examined the patient. The words the and doctor form a noun
phrase(NP) and the words examined and the patient form another verb phrase(VP). [the +

doctor], [arrived + quickly].
The traditional syntactic analysis the doctor is the Subject and arrived quickly is the Predicate.
Byladl ddv
LV pposaid] dpayt (R )3 (o Yoy BB e 5,51 e lelSUl gl (30, (ye dloluny ool JSAT
The doctor examined the patient : Jw dox § .Ohlall oud ASTelusg Jl ol 2o @ Cu
dlad (5,51 8)le JSas the patient 9 examined <WiSJls (NP) dww) 8)le JSi3 doctor 9 the WS
[the + doctor],.[arrived + quickly]..(VP)
4 Jgxaall 9o arrived quickly §3290)) 9o the doctor ($9dad) (§g=dl Judoxd)
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X’ SCHEMA
A phrase can be broken down to 3 parts: a HEAD, a SPECIFIER(SPEC), and a
COMPLEMENT(COMP).
Arranged as in the schema below:

XP
/[ \
Fig. 1; X’ Schema SPEC X’
/ \
X COMP
HEAD

X Jalkasxo
COMPLEMENT(COMP) J«SaJ! ¢ SPECIFIER(SPEC) ausxall ¢ HEAD iyl 152l ¥ ) lgovnds Sa 8yl
P odlel lahasiall § WS 53

The schema above captures the following generalizations:
1. All phrases have a tree-level structure (X, X', XP).
All phrases contain a HEAD, X.
3. If there is a COMPLEMENT, it is attached at the intermediate X’ level, as a sister of the
HEAD.
4. If there is a SPECIFIER, it is attached at the XP, as a sister of X'.

N

1AW dola! olylad! Jadily (3Ll Jalaseal!
(XP ¢ X'¢ X) ©bginad! Bymds oy &y L) Ohlad! oz .
X ¢HEAD (1)l e Sgimsd bl apa
HEAD (ol 43,845 ¢ X’ Sgimn & Jarwgll S3alb Jio g2 « COMPLEMENT JoSe 2l 05 13)
X' J da828 ¢XP = Juo g2 ¢ SPECIFIER ddoxo Sllia 0513

~
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Lecture 6
HEADS
The head is the obligatory nucleus around which a phrase is built. X in the schema above
canbe N, V, A, or P. A head can form a phrase just by itself.
Fig. 2: Phrases consisting just of a head

NP VP AP PP
I I I I
N’ Vv’ A’ P’
I I I I
He likes books all animals eat she is certain he went in
G 52 By ol (Ao cJad el 0955 OF oS odlel Lalaseall (3 X 8ykeadl Ll g (o dolil] Blgs 5o el
gl Bl JSan o oS
SPECIFIERS

The type of Spec in a phrase depends on the category of the Head. Det serves as Spec of Ns,
preverbal adverbs serve as Spec of Vs and Deg as spec of As.

- Det = Spec of N; eg: a, those, my, no, etc.

- Adv = Spec of V; eg: never, perhaps, often, always.

- Deg =¥ Spec of A; eg: very, quite, so

- Deg =» Spec of P; eg: almost

Syntactically, Spec mark the boundary of a phrase. In English, they occupy the leftmost
position in a phrase.
Semantically, Spec make the meaning of the head more precise.

1.0
NP VP AP PP
/ \ / \ / \ / \
Det N’ Adv V’ Deg A’ Deg P’
I | I I I I I I
the book never overat quite certain almost in

RREN]
liey JLdYI LS 3B 31 1551 ¢ slowsdl susmaS Det wisdoall pussy . el 458 (e dotiag B)lall (§ Sammall g3
Oliall 305 Deg LSl dyag Jladd susw

a, those, my, no :Jts ¢ el sie € Olodall -

never, perhaps, often, always :Jtw ¢ Jadl sa=e € Jlg=Y -

very, quite, so :Jtwe ¢ duall su=e € O dys -

almost :Jlw ¢ sl QB> sue € Ol Ay -

Bleadl 3 lud! (9281 aBge Jimi @il el Al (3 S ‘uyu
48> FST el (qae Jazey ddxall cbgad
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COMPLEMENTS

Consider the following more complex phrases:

a. [a picture of the ocean] - NP b. [never trust a rumour] - VP
c. [quite certain about Mary)] - AP d. [almost in the house] - PP

In addition to the Specifiers and the underlined heads, these examples contain
COMPLEMENTS. These are phrases which complete the meaning of the heads. Complements
are semantically selected by their heads. Syntactically, they are sisters of the selecting head.
The 4 examples above conform and illustrate the X’-schema given above. Ex (a) is given below.
(Try to draw a tree diagram for the others.)
NP
/\
DET N’
I /\
| N PP
a picture of the ocean

) PCON |

AW Tuwdas ASYI olladl jlaeYl ouas ds
dulad Byles - [ dmiliao Tl 35Y ] .0 dnons] Bylus - [ Jaweall p0 Bygao |
Bygyee Byl - [ Jiwdl 3 luydi] o dio Bilus - [ Gl o oo uSTho ]

Gxe 0ol (@I (B Ohlall p oda NS (Sgio Aiel 0 cdas Lgims I (ugdlg ilsdsall ] A3L2YL
9 35 kel A1 Al ol Gl g3 (o cligons Lgungy UiS (oo bgdd dSall Hlis! g ool
(.LSPS" o 8, 2d) alases o) Jyl=d) Ry T2 90 (T) Mo .o)l.cbﬁs.l,o.ﬂ 'X Jalases T2 9

THE MERGE OPERATION

We can formulate the following operation for sentence building:
MERGE: Combine words in a manner compatible with the X’ schema.
The merger operation follows a mode of application which is bottom up and right to left.

ol ddos
iles £lid AW duden)) debo LiSa

S X Jalases g dddlgie di oy OWI) o 2ezedl izenl
Dll) graddl (09 A Jawdl o 92 (I Bl diso 2 ZloSY! dukas

Olse )l 7Wlo (o Lgauis # Ol 1 ddla)l Gl # Golaadl @y 1 4l Jos 323




SENTENCES
The largest unit of syntactic analysis is the sentence. Typically, sentences are made up of an

NP (the subject) and a VP ( the Predicate). These two phrases are grouped together by
Inflection. | ( for short) is the syntactic head of a sentence. It stands for the Tense element of
the sentence. On the other hand, because of its central role in determining the meaning of a
sentence, the verb is said to be the semantic head of S. A simple sentence structure is
provided below:

IP
/\
NP I’
I / \
I I’ VP
| +Past |
Mary laughed

( Notice that the verb’s ending and the tense feature do match)

ozl
0% (4 Jgndall) dudad Bylicg (E9a090) duowsl Bylae 1o O9ST5 Jazell cBole . Ahosell (2§90l Uty 8ug ST
Jadll o paie Jio gl Alazml) ggouidl pulydl (2 (LaisPb ) 1. aaill 35k oo las bl grad
Uiy . Alazel) YW Guly)l 5o Sl 0) S cdlonll (ane oo § gyl )95 ot 8y &b (0 . Aol
D Je ot Aamll bapey

Advantage of this abstract analysis is that sentences have the same internal structure as
phrases.

As a head, | is obligatory and this accounts for sentences being necessarily tensed.
| is a natural locus ( position) for Modals, i.e. In between the subject and the VP.

Reduces the burden of language acquisition.

chlead Al &ud) s L) Joad! OF 98 (el Judtll 1 (3 oLl
2l s i (21 Jozd) Jias 1g g3k | e o) 435S

Adaa)l B)ladlg Eo gl o Lo @ ST b id) (@B 90) (sl OB g2 |
Aa.lJ\uL“JS‘;u.Cw&.ng u
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TESTS FOR PHRASE STRUCTURE
Words are grouped into constituents. However, how can we sure of the correctness of a
particular grouping. There are syntactic tests to confirm constituent structure. These are:
dhozell ddd iyl
)l Hld L e arazs dowo (po WS LiSay a8 S clld mag duwlnl polic J] lalSl auazss oy
1 0day Al ol Ay ST Lo

¢ The Substitution Test
Replacement of the entire constituent by ONE word such as they, it, there, do so. In the
example below, THEY replaces the NP children and DO SO replaces the VP stop at the
corner .
[The children] will [stop at the corner] if they see us do so
The PP at the corner can also be replaced by one word namely THERE.
They will stop there if they see us do so.

Il dyyzed o
d.?:.o d.?:) [Mc JUJ\ JULJ! Lg Liu.j‘_,l&m‘_‘juéc}éc,wc d“"’ 3.-\?-‘3 zt,o.& JASJL: LSWL""S”J“"‘*H d\dul.w\
gl die 994 ddad)) Bl Je S5 U3 adi g JIELY dpaasYIB sl
el Yo Uy 13] [ doglpll i (9 ] g [ e
Sid 29 5a>lg Ak gl is 8y yomal! Byl Jlulu Lad O 9
) 3 i By 13) i (gaBs o gun o
+* The Movement Test
The PP at the corner can be shown to be a constituent by moving it all to a different
position in the sentence. = Movement test

They stopped [at the corner] =» AT THE CORNER, they stopped. But not * at the, they
stopped corner

eyl Ay
3T goge QIS S 3oyl e gwlal paie T e gl OF oSy Lgl3)l die 89,2001 8)linll
x| By € Aol 3
Goglsll 985 eie* ud ()9 - l9ades ¢ gl dic € [dgly)l dic] 19ads
+* The Coordination Test
A group of words forms a constituent if it can be joined to another group of words by a
coordinating conjunction such and, or, but.
The children [went to the playground] and [stayed there all day] (The coordinated
structure is VP).

ol g2 o
&b o Sl e (53T de gazme go lgmaz (56l 0] Al poliadl usl JSCa5 (31 OldSIl oo s gaza
ol g Jin Caae (By>
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(1)

(2)

Lecture 7
PRACTICE EXERCISES

Oled

= EXERCISE 1: Some of the sentences below are ungrammatical. Can you figure out what
makes them ungrammatical ?

The instructor told the students to study.

* The instructor suggested the student to study.
The customer asked for a hot chocolate.

* the customer requested for a hot chocolate.

o0 T o

The pilot landed the plane.
The plane landed A journalist.
A journalist wrote the article.
* The article wrote.

Jerome is tired of her job.

* Jerome is satisfied of her job.

S0 Qo0 oTO

= EXERCISE 2: Indicate the category of each word in the following sentences:
The glass broke.

a. These tall trees are blocking the road.

b. The peaches never appear quite ripe.

c. | will see you when I finish.

e. ldon’t like that.

f. Some students always complain.

= EXERCISE 3: Each of the following phrases consists of a Spec and a Head. Build a tree
for each one complying with the X’-schema.

The zoo

This house

so witty

Quite cheap

always try

never surrender

Less bleak

very competent

S e o0 T
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= EXERCISE 4: Each of the following phrases consists of a Head and a Complement. Build

a tree structure for each one of them following the X’-schema.

. Into the zoo

. Full of mistakes

a
b
c. Fixed the telephone
d.
e
f

study this material
. Arguments about the elections
Success of the program

Full Trees
a. NP b. AP
Nl '
Pp PT
|
P P
NP NP
|
/\ ' NI
| |
Det N P Det N Deg A P N
I | I I l I l
the books about the war quite certain about Mary
c. P
]’)l
NP

/\| .

Deg P Det N
I || I

almost in the house

Figure 1 Other phrases consisting of a specifier, a head, and a complement

Olge I 7Wlo (o Ugauds % Ol 1 4l Gauds ¥ Solaadl @y 1 Al Jos 36




a. vp b. rp

Vl I)l
P
Nl‘l NI
|
V  Det N P Det N
| I | I
eat a hamburger in the house

|
P
/\l
et N
| I I I

put the book on the shelf

PP
V. Det N P
I I

Figure 3 A verb with two complements

FIGURE 5: The structure of a simple sentence:

IP
/ \
NP §
I / \
| | VP
| [+PAST] |
| v
I / \
N V NP
JOHN ATE THE APPLE

Olgell 7lo o LguddY # Ol ddlall geuds  # Solaadl o)yt ddla)l Jos
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NOTE:
= The SYNTACTIC head of | is the abstract morpheme [+PAST]. As a tense morpheme, it
must be associated with a verb, hence the complement status of VP.
= The SEMANTIC head of the sentence is the verb EAT. It is the verb that selects a subject
that can indeed perform the action of eating and the Object Apple, which can be eaten.

Indeed, a sentence such as : The tree ate the sea perfectly grammatical but it is
SEMANTICALLY anomalous, to say the least.

= EXERCISE 5
Instructions: Use at least two tests to show the constituent status of the following bracketed
strings:
1. We ate our lunch [near the river bank]
2. The [computer was very ] expensive
3. John loves [ peanut butter and bacon sandwiches ]

= EXERCISE 6
Instructions: Provide a syntactic representation for the following NPs. Justify the
Complement or Modifier status of each of the NP- internal. Justify the Complement or
Modifier status of each of the NP- internal.
1. A specialist in fibre optics from Paris
2. The girl on stage in jeans
3. The failure of the program in recent years

Olgell 7o (o UgeuidY # Ol 1 ddla)l Gkl # Golaadl @) ddlall Jos 1318)




Lecture 8

COMPLEMENTS <sHeSal!

COMPLEMENTS
= Complements are obligatory constituents that are selected by a given head. This head
can be a Verb, Noun, an Adjective, or a Preposition.
= Complement selection is both semantic and syntactic. When it is syntactic, it is termed
SUBCATEGORIZATION. Such information is encoded in the form of lexical entries /
subcategorization frames that include phonological, semantic and syntactic properties
of lexical heads as in (1):

S
ol e Jad 0950 OF oSar )1 1 . game (wly S (0 Wyliis] o dnoll] Awlin] polis (B S =
0dd 10y ok . £y Caiuaill dide 3llay (S92 O9%0 lodie (G975 CB Ml uivg IV 92 JoSell Hliis| =
AVl Al guall jaibasdl Jeid (&) dueyd)l Cailbad! (Sl / dwses J3-ue i e Ologlaall
(1) G WS duazean (09h) 00 g=illy

DEVOUR: Cat V

/divaua/
‘EAT HUNGRILY’
[ NP]

[+ edible]

We thus predict the contrast in (2) in which 2a does not include the NP direct object of the
verb:
a. The boy devoured the sandwich
b. * The boy devoured.
sl Byl Jadl) posall 4 Jgaall ety Y 28 G (2) § ol gdg JWL
Bahall ogdl Uyl a
ol gl * b
1. Complements options for the verb
As a verb can take more than one complement, our XP rule needs to be revised as in (3):
Jadl) dheSadl Sslylsdi | )
1(3) G S dazlye J] iz XP 0938 T3] ¢ JaSo -y ATyl o Sew Sl O Loy

XP = (SPEC) X’
X' > X° (COMPL¥*)

a. The librarian put [the book] [on the table]
b. * The librarian put on the table
c. * The librarian put the book
[ Aglall de ][ bS] oSl el Candy @
Jolall Lo LSl Ll oz b
Ol 4sSe sy .C
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By rules (3 and 4, above), (5a) has the following structure:

IP
/1 \
NP | VP
The Librarian | |
Vl
I \ \
Ve NP PP

Put the book on the table
Some more examples of verb complements

Jad)! LeSa) Aol e dujell

COMPLEMENT OPTION VERBS EXAMPLE
JoSadl ylsell JLdy JGJI
0] arrive, die The rabbit vanished
NP cut, prove The professor proved the theorem
AP be, become The man became very angry
PP dash, talk John talked to his daughter
NP NP hand, give She handed the man a map
NP PP hand, give She gave the map to the man
NP PP Joc put, place He put the book on the table
PP to PP about talk, speak | talked to the doctor about Sue
NP PP for PP with open, fix He opened the door for Andy with a
knife

2. Complements of other lexical categories
Complementation is not a property of verbs alone. Other lexical categories, namely nouns,
adjectives and prepositions, also subcategorize for specific complements.

3V duazeao D fpo CHSo .Y
iy’ L@T c).?:.“ géjﬁj colaall c;LM;}” dam ‘_5):;}” w‘ ol .Ub.,\:>3 dla_‘)g}U dpol> u.u.\.’ NS
Badore OS] L.C-).Q

COMPLEMENT OPTION NOUNS EXAMPLE
oS!yl slowod JEJ!
o car, boy The car is new
PP of memory, failure The memory of a friend
PP of PP to presentation, donation The presentation of a medal to
the winner
PP with PP about argument, discussion an argument with Stella about
politics

Olsell 7Wlo (o Lgaudsy # Ol 1 ddlall Gads  # Golandl @y 1 &)l Jos ')




COMPLEMENT OPTION ADIJECTIVES EXAMPLE

JeSadl sl Olaall JGJ!

() tall, green, smart He is very tall
PP about curious, glad | am curious about China
PP to apparent, obvious It is obvious to the teacher
PP of fond, tired She is fond of chocolate
COMPLEMENT OPTION PREPOSITIONS EXAMPLE

oS!yl 2l Qg > JLaJ!
O} away, down He walked away
NP in, on, near on the table
PP down, up, out down into the cellar

Subcategorisation, also referred to as C (onstituent)-selection, ensures that only the right
complement type is entered into the tree structure. This information is stored in the Lexicon.

R LS-\” Ja.fzﬂ}h Ea.z.,aﬂ d“’g“’“ ty QT O ch)bJ&-}” - (stbug)“‘pa.u.]\) Cf MlJLwJ L‘Scuc)_d\ auaill
M‘ Lg QLO}L’.AJ‘ ol B R Djz_wJ\ Ay Lﬁg als)

3. Complement clauses

Clauses, which are larger units than phrases, can also function as complements:

The psychic knows [that / whether / if the contestant will win]
The bracketed phrase in (6) is called a complement clause while the larger constituent is called
matrix clause.
that / whether / if are called complementisers (Cs). Their role is to introduce (head)
complement clauses, thus forming Complement Clauses which are represented as Syntactic
Complement Phrases (CPs).

Ul Joxd! .Y
oSS’ Jos Of Ll (1Shug ccohluall (o ST oy (¢ Jond!

[ igdew goludall 56713/ / o / & ] oy pomial)
@WWJ«S)“WU|M|MM4L&%(-\)Lgu«.wjﬁuuojha.]\omwu‘g
G Jaeb (&) AUsSe Jor JiSCad JWlg (Sl Jazedl (o) o2 52 W93 - (Cs) eSS o 13/ / Lo / &
{(CPs) L= daSe Juz
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/[ \
\'/ CcpP
knows |
(og IP
/ / \
/ NP ' VP
C / \ I \
(that / whether / if) Det N I \'}
the contestant will win

Verbs taking CP complements

There are different types of verbs taking complement clauses. Some of these are given below:

(9) a. They believe that Eric left. [V, CP]
b. They told Mary that Eric left [V, NP CP ]
¢. They admitted to Mary that Eric left. [v, PP CP]

eSo Olus 2o 30 &I JladY
gan b lady Ao Joz po 3B @1 Sl (0 dalizes §153T Slia
[AeSeblue __odad]  Loleelyfiof ogaisy (9)
[ AheSo Byus  duows] Bys ¢ J=d ] ol G{A)TQTL”SJLQJBJ@
[ UeSo Bls BygymmaBylus ¢ Ja3 ] 23 bl Of )l 193 e

THERE IS NO LIMIT ON THE NUMBER OF EMBEDDED CLAUSES THAT CAN OCCURIN A
SENTENCE, as exemplified in (10) below:

EXAMPLE: A man thought {that a woman said [that Sue reported (that Mary believed ........
)1}

At the level of competence, a sentence can be infinitely long. This is accounted for in our
grammar by the recursive nature of the X’ schema. This is made possible by the fact that the
same rule schema is used with the all the constituent types.

1oLl () +) § Mo Lo LS cdlhocell § 5415 OF Sew (@1 Jomdl due G b Sl o)

{I(..... Adza od 0 ) €483 guw O CdlB Bl O} ooy s 2 Lo

ladg Loud dalll delgd § oo luds oy -d9u M Asgls 0955 OF dhosel) (e ¢ 8:laSTl ¢y (S gans e
Lalasa)l 0938 i plasciul @iy Of dixa> Y- 0 (San 100 zruol uBg "X Jalasell oo §) ySiall dapdall
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Other categories with CP complements
As the examples below show, a CP may serve as a complement for a N, A, or a P.

WeSad! Cilylad! 2o (30 &1 (6,31 culiall
o2 By 3l ¢ Pl ¢ ol eSS Dliay 0955 A8 AeSadl hleadl cobin] el Lo gya0 (B LS

a. CP complement of N b. CP complement of A C. CP complement of P
NP AP PP
| | |
N' A'__ PP__
I \ I\ I\
N° cp A° cp P° cp
Proof that Eric left certain that Eric left (talk) about whether Eric left

It is easy to see, at least for nouns and adjectives, that the complement clause attested with
the verb form is also attested with the noun and adjective forms. We thus have:

Il douo Ll uS559 Jadll S donso US55 dleSall Aol O ccliaall 9 slowdl (3 JBYI (e ¢85 O Jgad! (30

.Mb p.w)“
Lad JWby
Prove ascertain
\ that the theorem is false \ that the theorem is false
Proof / certain /
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Lecture 9
TRANSFORMATIONS (1) 0)’3:5’0!

1. Deep and Surface Structure
The grammar that we have developed so far consists of a LEXICON and a set of Phrase
Structure Rules (PSRs) constrained by the X’-schema . The combined work of these two
components generates simple structures, be they phrases or clauses of a varying degree of
complexity. The central element in a phrase is the HEAD, an X2, while all its dependents
(Complement, Modifier, or Specifier) are XPs.

dixlawd! 9 ddeall ddd! . )

Jalasesy Biudo (PSRS) Bybuad! JSudd Uelgd (po degacmag pre (1o 0955 OYI (5> W yglaty Liad G )l aelgd
il kel e Bglite Glomds 1y ol hle S8 elguw cdacw S Wgy opmaiall (i) las Joadl "X
XPs o2 (3dmeall ol ¢ piadl ¢ JaSall ) Lgake cpdlandl mooz OF s (3 X2 929 ¢ (Tl 92 B3leall 3 (53550

However, these components cannot account for variation in linguistic structure as represented
by the following examples in a straightforward way:

(1) a. The Inspector will come tomorrow. Declarative

b. Will the Inspector come tomorrow? Yes-No Interrogative
(2) a. John bought a car Declarative

b. WHAT did John buy ? WH-Interrogative
(3) a. John ate an apple Active

b. An apple was eaten by John Passive

iyl W1 eIl § LS Lgalll il § WY e Agians 095 O dwlud)l roliall 0dgd S Y «ll3 pe

18 polee
duzw pa 13 juiaall Gl T ()
Vopad duolgiine)  Glas i)l 3l Jo w0
4y pals Blw 09> GAH1T (2)
WH a,'u\.g.o.i.w! S 09> Sl 13le <
Jad st 09> ST (3)
Jogxall dame S0 8 (1o it ekl oo
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Native speakers of English ‘know’, tacitly of course, that these sentences are both syntactically
and semantically related, although they all express different modes of communication. This
relatedness cannot be accounted for if we rely on the Lexicon and PSRs alone. At best, these
two components will treat them as unrelated structures and thus will fail to capture the fact
that the sentences in (b) are DERIVED from the sentences in (a).

e cdlall SI3 WYs 9 bgss elguw > e Jozdl oda OF eJloedl dmdas Loaus ¢ 099 ym0" Lol dall cnilo )
Aelgd g eamae e daia US 13 apiad oF Auall odg) oSen ¥ . JUasYl oLy Cilisees 09 pm lases 003l 0 0251
e g Be Y Bl Ll of LS eglolad Bgu (pnaiall (o cJIgaYl sl (3 .d>g (PSRS) 83leal S
(@) @ Jox) (30 Bkaians (b) § Sl O A e 93 Jiniww JWL

HYPOTHESIS: The sentences in (b) are derived from the ones in (a) by movement.

The (a) sentences are generated directly by the Lexicon and the PSRs. They represent a level of
linguistic representation called DEEP STUCTURE while the (b) sentences represent a level of
linguistic representation called SURFACE STRUCTURE. The two levels of linguistic
representation are mediated by a set of rules called TRANSFORMATIONS. The work of the
Transformational Component is at the centre of the Computational System in the Grammar.

oyl SN (0 (0) & Bo99adl &Sy (b) (3 Jozndl o 1oy

Sl el (o Sgiume Jind (29 .PSRs B)lall SSud delgdy ozeaadl Jd (p0 8rdlie W5LAI] b (a) (§ Joxl
Opgivall (ods Jawgl dxdadl dddl (£ Soalll Jukaill Sgiun (o Jaz (b) Jied laiy ddeall duidl (5
Qo pladl 3800 (3 90 ddsgoatdl Ll oliadl Joe Y gl oS delgdll (o de goze (Sosll Jsiadd) (30
Aalllaelgd (8

We will further assume that there are 2 types of movement:
= X2 movement (movement of a head)
= XP movement (movement of a phrase)

2. Transformations <Y ¢
2.1. Head movement: YES/NO Inversion or | -to- C
The sentences in (1) above, reproduced below in (4) instantiate the operation of head or X2
movement. The structure of (4a) is given in (5a).
eSS = ] - 9285 of B ¥/ e zpelyll oyl )Y
(5a) & olane (4a) Loy . X2 oo of oyl Jiits Jiho (£) (& 06] daudiana codel (V) (§ Juzr!

(4) a. The doctor will come tomorrow. Declarative
b. Will the doctor come tomorrow? Yes-No Interrogative
duou pal 13g 58Sl Gl T (4)
Y-pai doolgiin]  Glas 085S Glew Jo w0
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(5) a. IP

/ \
NP r_ - D(eep) Structure diws 4
The doctor / \
12 VP
WILL come tomorrow
We apply the transformational rule - Yes/no Inversion
Qs 0536 3ek Vsl A

We derive the S(urface) Structure:
dodal! duddl dadud

(5) b. IP__
/ \
NP I’ - S(urface) Structure  dusdaud! dddl
/\
12 VP
WILL The docctor ----- come tomorrow - Y/N inversion Ve I8
T /

By Yes/No Inversion we front the auxiliary WILL in | to a pre subject position.
Eogedl B adge | cpaill (§ WILL deluell il ‘aui LS| /o5 U dlawl g

The transformational analysis has two advantages :
= We do not have to say that there are two types of Aux in English, one that occurs before
the verb and one after it.
= Relatedness of the Declarative/Interrogative is also captured by the movement analysis.

1060 4 Jogoedl Judowil!
Jud U g3 alu] cdoploayl bl (§ Buelunadl JdY| Js-do cpo cne g Hlid OF Joib Ol e Y ®
" ol (5,39 Sl
Sooail) Jeloill IS (0 sl ) 3us Sy dpolgiiasV/ iy sl Al o

One question remains, however: Where does the Aux element move?
Recall from the previous lecture that phrase structure rules are recursive in nature. This
means that it is possible to assume that every independent clause is in fact the complement of
a verb of SAYING/BELIEVING/THINKING, etc. Thus, we will assume that sentence (4a) is
complement to a silent verb such as in (6):

(6) a. 1 SAY: the doctor will come tomorrow
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S bl Jodll saie sy ol J) 101 989 ¢ d>ls Jlga i
SO 4285 Of (Sell (o 4l am Mg dapdall (3 8y ySTe (2 Bleadl &y delsd O dlud] 8 polomall (40 LS5
Jxd) Ao (p (4a) Aazd) OF (205 Lo ¢ 1Sag .2l « ASE/ B2/ S8 Jrd) Ao pBlg)l (§ (o Aldins Aoz
:(6) @ Ll 5 LS s
ke b g cdall: 981 .a (6)

Syntactically, (6a) has the structure in (6b):

:(6b) § SSe@ g2 (6a) Lg>sd
(6) b. v__
/ \
2 CcpP
(SAY) / \
cl
/ \
/ P__
/ / \
/ NP __
C /\
12 VP
WILL The inspector come tomorrow
(N I

The relatedness of 6a and 6b is maintained through the fact that the movement of | leaves

behind a trace, thus forming a movement chain. Thus, | moves to C, ONLY when the latter is
empty.

eyl Aldas JS0a3 Wby B Lashyg 2156 Jgamid] 48y OF A M5 00 BT 9 AT (& Al e Blasl o
B0 3 055 Lesie ad ¢ JaSadl ) Jaity L pasd] S

A simple test for this analysis is provided by the contrast in (7):

(7) a. I wonder |F/WHETHER [ the doctor will come tomorrow ]
IP

b.* Iwonder IF/WHETHER WILL [the Inspector come tomorrow ]
T X I
I —to-C is blocked

(7) & Rl D ollase il 1) dlaiw &y2e3
[Tae U Ggus codall ] slgwe/13) Jsludl .a (7)
[Tae 36 adsall ] gan elgus/I3) Jelusl *.b
|__x__1
Cymme JaSadl- (|- saill
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The verb WONDER subcategorises for a CP complement. Thus, the C position is filled by either
IF or WHETHER. When | to C applies, the Aux WILL moves to the position that is already filled
by IF or WHETHER. A Complementiser and an Aux cannot occupy the same position. This
explains the ungrammaticality of (7b).

Conversely, if the Comp position is empty, | -to — C movement is possible as shown in (8):

(8) 1 wonder: will the Inspector come tomorrow

G Ladie el guo 91 130 Lo 4218 Slay (qlusd sariall 2890 1Sy . JuSodl Bylus ALSH e yd Caisan JLudl Sl
Joally JaSlall 5l gaw 9T 131 Dol s glan audgall ] Jiidy B g e Lucall Sl 318 ¢ JaSadl ] s il oy
(7h) 00 Lael g3 s Lo g . a8 gl uds OBz OF ey Y e Lusa|

1(8) § e 52 WS diSan (ulusdl aiall oy ] Syl ¢ )16 JoSall g 08 13] ¢ (uSall e g

e b daell Ja dsludl (8)

= EXERCISES: How does YES/NO inversion account for:
* played the boys football yesterday?
Did the boys play football yesterday?

¢ el pdl 8,S 5V g1 L) *
S ol pAdll 8,S 1 gan) SV VI o
2.2. XP movement: Move WH to SPEC CP

Another instance of a movement rule is provided by so-called Wh-movement. This illustrated
by example (2) above reproduced by below in (9):

(9) a. John bought a car Declarative
b. WHAT did John buy ? WH-Interrogative

deSo Byls dueo (| JI1gad! J&5 X Byle oyl Y, Y
J8 o deadiunn odMef (2) Jtl Lg o e . Jlgud! B> o bo I el el oo 31 Jie

:(9) & oUal ol
G Bl O3z A& .2 (9)
ql@.ﬁ.’;’.w! d|_§.w ) 09> SAdl 3k b

The Wh word in (9b) substitutes for the complement of the verb BUY in (8a). The Deep
structure for 8b should be as in (10):

:(10) & (p WS 8b J ipan) &) 0555 O 3y -(8a) & Gl Jadl) Al Alyty (9b) (§ 15Le dolS
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(10) John did buy WHAT?
T3l ALl J28 09> (10)
To derive the S-tructure (9b), we need to apply two transformations, namely:

TRANS 1: Subject Aux Inversion =========9 did John buy WHAT?
TRANS 2: WH-movement -> WHAT did John ----- buy ----- ?
T T | |

1GR9 975 Baedad dl dxlon (23 (9b) dmlaudl didl Blansy

B el Os=> \ols € === (LS - deluoe J2d - £ou0 90 :J9V J gl
¢ el 0> \ols 13l €E======== dl)):uJ\ - g ZL“;L‘«.H Jg=dl
| |1 T

We know from the previous subsection that the Aux element moves to C. We also saw that it
was an instance of X2 movement. How about the Wh-word? Where does it move?

Let us assume that the Wh word moves to [SPEC, CP]. We thus have the following tree
structure for (9b):

Lkl e 13k . X2 lyoet) Jio 0F 5T Ll Lilyg - JuSe J) Jis dslunad! Jadl paie OF @ludl alaiiall e Uidye
S ol 1§ drelgaidl
: (9b) J &AW 8yzeadl dws Lo JWbg . [AeSo 8ylus cadmee] J) Jaus duelgaiawl &kl o0 (o i85 Lges

(V). V4

/ \
o (o
(SAY) / \
/ of
/ / \
/ / P____
/ / / \
/ / NP r__
/ / / \
/ C / VP
/ 12
WHAT did John t buy t
T T I |

Olse )l 7Wlo (o Lgauisy # Ol 1 ddla)l Gl # Golaadl @y 1 4l Jos %)




In this lecture, we have introduced and illustrated the working of the Transformational
component of the Grammar.

= Transformations are needed to account for structures that involve the
displacement/movement of some constituent

= Two types of transformations have been illustrated: X2 movement in the case of Yes/No
guestions and XP movement in the case of WH-movement.

goidl delgh (§ gzl CSyall Jos lisess g9 Lioddd ¢ § polnall 0d (3
gl o liall (any 853 /A513] e (Sskas @) Al Oluuos) e gl i @
iy Al (§ XP ey 9 Von Aliae] Al (3 X2 oy 1ammiig @) c¥gtll (0 Olegs Jing
2\l Jlgud
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Lecture 10
V-movement to |
Consider the following contrasts. Can they be explained in terms of the availability of V-to-l in
French in general and only exceptionally in English:

(1) a. Paul travaille toujours.
. *Paul works always

(on

(2) a. *Paul toujours travaille
Paul always works

o

)9 9 ple S5ty Al AR Uiy -] - Sl loyoss 3155 o (3 2t OF oS JI1 bl ) sl
Qs Aab Jads 48Ukl

Observations: English and French contrast significantly with respect to the relative word order
of V and Adv in a simple sentence.
In English the Adv MUST precede the verb, while in French it MUST follow it.

Q& Jly Jadlb A gum g0l LIl il 3lat Lagd S S digliie )l sl plansY) dslll rcllasHloll
dr ! dlazl
Aaly OF Gz )l (3 Loy (Jad)) B OF o Joddl ol Asl)1 (8

Hypothesis: V-to-l applies in French, but not in English. The existence of such a head
movement transformation explains the contrasts (1 & 2)

1 e 99 O] Aplanidl A e ) 50 et ) A3 e ety s 3] - S x5 1o
(Y51) G 0ol ady ool slyomiy Jgnid!

Evidence:

Arg 1. Both English and French have I-to-C in Yes/No questions, but only French has V-to-I

followed by V+I-to-C. Consider the following:

o) &eadyall azd SJg oY/ o Al (§ S -(J] -l Ay Lg) duendylly o) sl g S ) 2SN
1 Lo bl o 33 W L JuSo -] - pailly Jaddl eliyoes Ll G pas -] -Jaddl ey

(3) a. As [tu essaye] ? I-to-C F

b. have [you tried] ? I-to-C E

(4) a. Vois [-tu [ le livre ]] ? V-to-I-to-C F
IP VP

b. *See [-you ____ [ ___ thebook]]? *V-to-l-to-C E

Glgeddl 7Wlo o lgwidy # Ol ddlall Grads  # Golaal oy 1 AUl Jos 9




In (3) Inflection has moved to C in both languages giving rise to well-formed Yes/No questions.
In (4a) the verb in V seems to have moved to | then to Cin French, while in English it cannot do
so. This confirms the hypothesis above.

Q@ =8l O 9o (4a) @ - K Ao Y/ o il ] 61 low Ul (30 S (3 JuSo | s patl Jal (V) (3
A ya)) US55 1y s Jad auatiw Y Dol Al (§ Loy deandyal AL JuSl ] 03 i ) ) Jas! V
oMed

Arg 2. English has exceptional V-to-l with BE used as main verb in ex. Such as:
e Jball (§ (s xS putianel) 89281 Jd pn (s -(J] - Sl @hsyoey Lol Lol Ayl

(5) a. Jonathan is always on time c. Jonathan is [always e ontime]
b. Jonathan always is ontime VP

V-to-l has applied in (5a) but not in (5b). BE in this example has a dual status: it is a main verb
but at the same time it has the morphological properties of an AUX, ie an I. It is syntactically
visible only when it surfaces in |; and not under V if it does not move as in (5b).

b 58 1950 D> i Jlall s 3 .(5b) & ool 09 (5) (§ aanddd -] -l oy § el B
£950 Loie Jadd Lgoi (3 0 i) . patl] (5T e bl Jdl) duis s pailias ) Cgdl s (3 S09 (st
(5b) 3 LS 2yt ¥ 08 3]V e g s paill § bnbaws
Arg 3. If our analysis of (5) is correct, we predict the grammaticality of (6).
(T 841 selsd e Bldas] Lt o egomes (0) J delons 05 1)
(6) /s [Jonathan e [always e on time]]"

T |_vP |

The grammaticality of (6) cannot be explained unless we assume that BE has moved exactly
like lexical verbs do in French; i.e. over the adverb in [Spec,VP]. (See 1&2 above)

JUadYl S o Jio Jasally 5o 8593831 Jad 0550 O Lub 81 13) Y] oeads oSow Y (1) dslll aelg3 e gudasl]
(oMl ¥ 9 ) Llail) [adadl Aol cdammall ] 3 Il e (ST s o)) bl (§ dozeasl!
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Structural ambiguity
Some sentences are structurally ambiguous in that the meanings of their component words
can be combined in more than one way. For ex:

Ayl oo AL L Lovd o] (e g 4598l lodSO 3o O (5T LIS ditle Jozddl pamy (Sl (ol

Jle Bu>lg
Wealthy men and women
The phrase in (2) can be interpreted in 2 ways:
a) wealthy (men & women) or b) (wealthy men) and women
ey eludg Sz

(T l)s sl (b o clydf(clads Jiz) (@ :onidoykas By S () § 83kea)

These two readings are matched by 2 different syntactic structures:
s dabizeadl Lgoudl WLSTA e (il Wlslyall ol Jola

(3) a) NP b) NP___
| / \ \
N' NP  Conj NP
/ \ / \ | |
AP N' AP N' and N
| | wealthy | women
A N N
wealthy / | \ men

men & Women

(3a) refers to all wealthy men and wealthy women while (3b) refers to wealthy men and
women in general. The latter are not wealthy.
Gt 8,3 ale Sy s ladlly sL 3 Jlamydl ] adi (3b) Loy U391 slaidlg sUy3Y1 Jlm )l puar J) i (3a)
20391 (e

Conclusion In this lecture we have:
= |-to-C exists in both French and English.
= V-movement to | exists in French, which fact explains the existence of V-to-I-to-C in
this language.
= V-movement to | does not exist in English, which fact explains why English does not
have V-to-I-to-C.
Lo 8 poloeall 0 (§ duod!
Ay dradyall il Sgg0 JoSo Jf i paill ey w
JaSo 3] s J) ) clyyoxS 3529 A it Lo g9 eyl Al 3950 sl Jf Jmdll loys

Aallloda (8
pal ) Jaddl Gyl 3929 pie didi> iy bo 929 il dalll 29290 e Cpal ] Jadll by =
A=Yl JaSe ]
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Lecture 11

Thematic Roles
Another aspect of semantic interpretation at sentence level involves the roles NPs play in the
situations that they describe. Consider:
(1) The company sent the salmon from Muscat to Sohar.

dus 90901 ,l93Y)|
Agisiuar (Il WYl (§ Aol Aozl Hlgal and e (Sotaiy Aol (Sgiune o JVNI sl oo 53T ol
uW&/&deﬁW/W/WJ/‘ (")
It would be impossible to understand this sentence if we could not identify the company as
the sender, salmon as the sendee, etc. The term thematic role (theta role, 8-role) is used to
describe the part played by a particular element in an event. Some of the most used thematic
roles are given in (6) below:

1 g ey Ogalaad] o ¢ JasysS B8 o Byail (505 @) 13] Aaznll 0 08 eeianall (50 055
oA (Od> (§ (are _pais d poly S )9l Cauo gl pustiw (B -9 bl y93) Sl Sao9all joll eld
2001 (1) & Jaze boluseiwl 8V dus guo 50l 19N
Thematic roles:
AGENT: The entity that performs an action.
THEME: The entity undergoing an action or a movement.
SOURCE: The starting point for a movement.
GOAL: The end point of an action or a movement.
LOCATION: The place where an action occurs.

4 940 9all HlgaY!

(! dasy 1 oLSI s s\l

ASy> 9l Lo Jad) aupldl OLSUI iy J gadall
Lo &Sy (3N dlnits 1 yducaell

Sy ol Lo Jad) Dolgd) daas 1 Bugl
2l Gusy U 081 a8 gl

In sentence (1) above the following thematic assigned:

(2) The company sent the salmon from Dammam to Riyadh.
AGENT THEME SOURCE GOAL

(W £ a0 901 ppeadl odet (V) Aozl 3
2 bg/‘j‘/,alo..tf/‘}o Jgalud/ M/&L«Ji (%)
Augl  yuas)l @ Jexiadl Jeldl
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(3) Terry gave the keys to Mary.
AGENT THEME GOAL
o J miléad) ohow S5 ()
Augll @ Jgriall  Jeldll

(4) The magician changed the ball into a rabbit.
AGENT THEME GOAL

el J 5 =l Ji= (%)
Gugll L Jerdoll Jeldll
Thematic Role Assignment
= Where do thematic roles come from?
= How does the grammar ensure that the appropriate thematic role is associated with
each NP in a sentence?

| yoldl yund
‘-.'&z«.Cyb}oJ\Jb;)” L;b oo ™

Thematic roles originate in word meaning
The meaning of the verb/predicate is central in determining the particular 6-roles that must be
assigned in a sentence. For instance, the meaning of HIT calls for the 6-roles AGENT (doer) and
the THEME (doee). However, the other categories can also determine other roles that are
assigned in a sentence.
In (3) above, the prepositions FROM and TO are respectively responsible for the SOURCE and
GOAL role assigned to Dammam and Riyadh.
A1 (sra 3 L dus ga g0l 51981
HIT gas cJliadl Jow o Aozl (3 05 OF s (@) igma © - 9ol sk (3 (53550 40 Jgmiall/ Jad)] 50
S>3 19391 auss Ll (6,391 eoliall (s ¢ el3 29 .(doee) 4 Jgaaallg (doer) Jell B -l9aYl ) ge
ezl § Lgiens o2 3
2lly ploc] J) Baiall Bugll 9 youandl 5o JIgill e Dosans /9 po )l By oMl (Y) §

Generally, B-roles originate in the Lexicon as part of the semantic information associated with
particular heads. Here are some examples:

ey gLy U.{bj Auao o*99) & 4.19.«.&.0.)\ @)’AJ\ C)Laﬁ.la.aj‘ OR ;):cs‘oaum @L:d 6 -)\35)“ ‘T.Qj.o.c
(5) The thematic roles of some words are suggested by their meanings.

lgsilao b o A8 LSl and e gam g0l 519390
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HIT <AGENT,THEME> TO <GOAL> NEAR <LOCATION>

Jelal ¢ b Jognaadl Ougl 2901
WALK <AGENT > FROM <SOURCE>
Jelall BEW=N]

B-roles are assigned to NPs based on their syntactic structure, with each NP receiving ONE
and ONLY ONE
B-roles.

Jadd Buslg B -)l9al (A duawsl B)lus S ae cdigmeidl Lgidy (bl e duawsdl cillall B -5l90T (s oy

The verb assigns two 0-roles, one directly to the complement and one indirectly via the VP to
its subject because the verb is not syntactically a sister of the NP subject.

OY de guo go) ddadll 8yleall Goybo (ye Bilen p& Bulgg JuSall J] 85l 8A19 <O -5193)) (10 (py93 (e Jd!
el Byladl £ 90) sl Lz ) S

(6) Terry gave thekeys to Mary.
<AG,TH> <GOAL>

™ /\ ™ 0\ T

Deep Structure and Thematic Roles
Does an NP receive its B8-role in its D-Structure position or in its S-Structure position?

dus 940 9a)! 919 ddantl Al
QW\ \.@.wu ngi W\ l.@.wu Lg 0 -L(b)ja agn.w}" 5)[,«.:.” s J.Q

Consider the following example in which wh-movement has applied:

{WH -48,2)l e 03 (s 31 QW Jladl J) el
(7) What should the man bring e ?

The Theme role is clearly assigned to the position occupied by the trace of the wh-word. The
D-Structure position is the one subcategorized for by the verb and is therefore the one that
receives the relevant 6-role. Also, the D-Structure position determines the nature of the 6-
role. We can thus state the following:
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daudo Suoey direat Al adgo OB Ll . Alall 13 8 - 90 (Rl (I 948 JWby Jadll Leyd Tuslg laias
ik b Jgd liSar &y (o9 .0 - )90

An NP’s D-Structure position determines its 6-role.
This statement lends further support to the fact that there are two types of roles PSRs to
generate deep structures and TRs which convert them into surface structures.

.0 295 duony duow! Bylal) ddoad! diid! &33.0
3 dineal Gl wd gl (Byleadl S Ul g8) PSR 193l (o (e g3 Sl O dizn) el (p0 Tuze s Oludl o
a9 I lghgad e SII (ddigoedl uslg)) TRs
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Lecture 12

Case in syntax
Case is a noun inflection by means of which grammatical relations such as SUBJECT, OBJECT,
Prepositional OBLIQUE, DATIVE etc. are signaled. English does not mark Case overtly.
However, Standard Arabic is interesting in this respect because it has OVERT Case, marked at
the end of a noun as shown in the following example:

Aol sl (§ A a9

¢ )9 7all Ao ¢yl g 4> s J gl 692 90dl Jio dugoudl Ml Baybo (4o eunl (i ,_";b Wl ausg
&9 e S Al mupg nad Y Ll dalll ByLi) g el ) kg cuad! JI> ‘3 dadlg dokS ¢ il pdl
LS’ ol dolgs § Hadg s e Lo A apg 1Y suall e 3 plaiadl 8t (p (suadll doyall Ll 06 (el
:k";l:J\ d&d\é@@}n}h

Akala 9omar-u  t-tuffaahat-a  fi I-maktab- i S/ § d>la] fac 5.1
Ate Omar-nom apple-acc in the-office-gen
'Omar ate the apple in the office. *

SUBJECT Case is Nominative, OBJECT Case is Accusative, and Prep Object Case is Genitive (in
Arabic).

Aallb) Blias 98 ygy7ell Al> aud99 ¢ Cuaidl 92 i Jgaiall Ul> aibgg <@yl (B go2gall Al a9
()
Assume the following Case relation:
NOM is assigned by + TENSE
ACCU is assigned by V
OBL is assigned by P ( in Arabic, P assigns GEN)
AW Dl s g A3Mle o o)
Jadll dieo 3yl e @)1 (s o
Jadll 5,k (e Cuaddl (el o
I By U 0 pgsomell a0y
Case Filter: All NPs must have Case
U g 0950 OF o dnewsdl Wbl S 1l a9 Blisas

NP movement (l): Passive
Consider the following two examples:
(7) The police arrested the thief
AGENT THEME

(8) The thief was arrested [e] (by the police)
THEME AGENT

(9) was arrested the thief (by the police) D-Structure
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Jogxoll (o o)l B yladl Gl x5

ol (el )l
sall de cund  dbdd (V)
EYPEY-IN] Jell
(dbridl Jd o) [€] palll de Gasd (A)
Jeld) @ Jgndoll
ddendl Al (Al il Jub o) pall (e s "'/‘:,éli— @

How come that the Agent role of (2) is not assigned by the verb in (3)?
= Assume that the passive morphology ‘weakens’ the verb by making it incapable of
assigning accusative Case to its object, hence the need for it to receive Case in the
vacant subject position from |.
= Assume that the passive verb also loses its capacity to assign the subject 6-role. The
subject position is therefore non-thematic in (9). Interestingly, NP movement is a
transformation which creates a CHAIN, whose head is a Case position and a non-
thematic one and its TAIL/Root position is a non-Case position but a thematic one.
¢ (7) & Jddl U3 oo dind @i o) () @ Jeladl 90 O iy &S
el Dl el e 8506 a4 lglaz IS (0 Joddl " Cansa” Jggamodl dio S5 OF 2l =
Adpall (e 8,8l E9a0 90l 2890 (§ OVl Ui A dar el JLLg clge 94090
32 g gall abga O JWby 9l -8 fadge opead (de )b uidy L Jggamall (uall Jaddl Of (o)
9 dusly 1y s Bl A1 J gl 9o dnoundl @lyoed O cploxad piedl (10 (1) & (£94290 2
(S350 4S)y Al b aBge 9o g Ao/ LAl CaBge 9 (£ou090 s Ul a9
An NP Chain: (NP, e)
[+Case,-0] [-Case,+0]

NP movement (ll): Raising

Similarly, RAISING Predicates are sanctioned by the same Chain conditions given above for
the Passive. Raising Predicates are predicates such as: SEEM, APPEAR, BE LIKELY, BE CERTAIN,
etc. Consider the following:

23 JI 1ol Byladl Gl s

(Jggamall Guoll odlel 89Sl Audid B9 b5 s S8 ¢po Agadio 4y Jgriall ad) O ¢ Jrall

Bluall 3 saxd 3 ) g il (e 0950 O cgeami¥ e epgls e ke : S 0 Jgmito (B 0 Uyl g
:aJull

(10) a. Itseems [John is happy today ]
b. John seems| ..... to be happy 1
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(10 a and b) are synonymous, but they differ syntactically in that the first one has a finite, [+
Tense] complement clause whereas the second one has a non-finite, a [- Tense] complement
clause. Thematically, the verb SEEM s-selects a THEME complement clause and a non-
thematic subject.

& [Jrd)! dao] co39dm0 ASa Bylis 1) J9Y 01 8 S Cum (o alisd LS elBolye (£ (10 @ and b)
oS iy Uz - 8yguall gk Jadl dhe g go . [Uad diuo pE (30] Bagdone e ASo Bylue Lo A3WI OF cp
L (F9R290 A Ee 90 9 Jgrikall

The derivation of 10b) is as follows:

5) John seems to be happy erw (92 O 9o
DS: ------ +T seems [ John -T to be happy 1
[ + Case, -6 ] [ - Case, +0 ]
Move NP = S-S: Johnx +Tseems [ ex to be happy ]
T I
CONCLUSION

In this lecture, we have seen that :

= The thematic status of a syntactic position interacts in a significant way with syntactic
processes such as Passive and Raising.

= NP movement is obligatory for Case reasons (Case Filter). It moves an NP from a
thematic and Caseless position to a non-thematic and Case marked position (NP Chain).

Ao
219 Jsemall (ouadl o gl Olhaadl g0 S S Jolaiy (S92 dsal (£ 9250l g gl
Fp290 Bdga (o duawdl Byluall Fyou 989 . (dxinal Do) Dol Glewd izl Auawedl Bylaall choyxs
" - (Apoasdl Bylall ddis) D 5 (£ 94290 2 Bgele CiBge J] J3T Wlg
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Lecture 13
MORPHOLOGY EXERCISES

EXERCISE 1: Say whether the following words are related by inflection () or Derivation (D)

a

b.
C.
d.

g0, goes going, gone. | - D
Lovely, lovelier, loveliest | - D

Discover, discovery, discoverer, discoverable, discoverability | - D
Inventor, inventor's, inventors, inventors' | - D

EXERCISE 2: For each word below, indicate whether the word is morphologically simple (S) or
Complex (C), includes an inflectional affix (IA), or includes a derivational affix (DA).

> oo oo

Reader S C IA DA
Redder S C IA DA
lavish S C A DA
Readiness S C A DA
Aviation S C IA DA

EXERCISE 3: Isolate the root and the affixes in the following words.

P oo oo

For example: unpredictable : un+predict+able.

independently
recoverability
embellishment
unsustainability
implementability

EXECISE 4: Some words in (4) contain prefixes. Identify the prefixes by circling them.

® oo oo

unable
discourage
establish
receive
strawberry
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= EXERCISE 5: Circle the correct answer in the following multiple choice questions:

(1) The study of word structure is done in
Phonology

b. Syntax

c. Phonetics

d. Morphology

Q

(2) The association between the sound of a word and its meanings is purely ..............
a. Controversial
b. Conditional
c. Central

d. Conventional

(3) Suppletion occurs when a lexeme is represented by two or more .................. roots.

a. Different

b. Similar

c. Bothaandb

d. None of the above

(4) When we derive one word from another, we ..................

Change its class, for example, from being a Verb into a Noun
Change its tense, for example , from being Past into Present
Both of the above
None of the above

Qo0 oo

(5) Roots are ..............

a. NOT always fre
Always free

Both of the above
None of the above

o0 o

......... is a morpheme that makes the most significant contribution to a word's meaning.
a. The phoneme

b. The derivational morpheme

¢. The inflectional morpheme

d. Theroot
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Lecture 14
Practice

EXERCISE 1: Instructions: The sentences below are instances of structural ambiguity.

a) Give a paraphrase of two possible readings for each of them
b) Draw a tree structure for each reading.

1. The police shot the terrorists with rifles
> Reading 1: ... The police shot the terrorists HOLDING RIFLES
On this reading the PP with rifles is a modifier of the NP ‘the terrorists’
. Tree STrUCTUIE: e e e e e e
»  Reading 2 : The police USED RIFLES to shoot the terrorists
On Reading 2, the PP with rifles is an in Adjunct, an instrumental Adverbial
B TrEe STFUCTUIE et

= EXERCISE 2: Instructions:
a) What is the status of the underlined clauses in the examples below ?Are they

complements or Modifiers ?
b) Justify your answer.
c) Draw the tree structure of the COMPLEMENT structure of the verb BELIEVE.
A. | cannot believe the rumour [ that John has died ]

B. /cannot believe the rumour [ that is circulating in our neighbourhood |
» Constituent status: that John has died is a : Complement Clause (CP)
= Justification

Arg. 1: As a complement, it completes the meaning of the head noun RUMOUR
semantically. Thus, it cannot be omitted ( deleted):

I cannot believe the rumour. ( the rumour about what ? As it stands this sentence is
incomplete )
Arg. 2:If indeed this constituent is a complement clause, then we expect THAT to be a
Complementiser, and NOT a relative pronoun. Replacing THAT with WHICH should result in
ungrammatical sentence, which is indeed the case:

* I cannot believe the rumour WHICH John has died.
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= EXERCISE 3:

Constituent status: that is circulating in our neighbourhood is a

Modifier/Relative/Adjective Clause (CP) Justification
Arg. 1: THAT is a Relative Pronoun, NOT a complementiser. It introduces a relative clause
modifying the Noun RUMOUR, the antecedent of the RP THAT. The latter originates in the
subject position of the clause :

I cannot believe the rumour, the rumour is circulating

(THAT)

Arg. 2:If our hypothesis is correct, then the assumed RP pronoun CAN be replaced by another
RP, namely WHICH as shown by the following :

I cannot believe the rumour WHICH is circulating in our neighbourhood.

= EXERCISE 4.
Instructions: Provide a syntactic analysis of the following sentence by:
a) assigning it a D-structure representation
b) Applying the needed transformations to generate its S-structure
c) Drawing a tree structure to represent it.
What has John claimed that he can do ?
» D-structure: [+wh] [+Q] John has claimed [that [he can do WHAT]]

> Transformations:

Transformation 1: YES?NO Question or I-to-C

[+wh] hasJohne claimed [that [he can do WHAT]]

Transformation 2: Wh- Question

[WHAT] hasJohne claimed [e[that [hecan do e ]]
T I |
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Tree Representation CpP

/ 0\
[+ WH ] cC___
WHATX / \
T [+Q] IP

I hasy [/ \
| ™ NP I’
I | John [/ \
I I ey VP
I Vv’
I /\
I \" cp
| claim / \
I ex c
I C IP
| that / I
I he / \
I can VP
I Vv’
I V NP
I do __ ex
= EXERCISE 5:
Choose the correct answer.
i I Tries to explain the unconscious knowledge that native speakers have of their

own language.

a. Generative grammar
b. Traditional grammar
c. Functional grammar
d. Systemic grammar

2. The sentences 'Smith ate a sandwich' and 'a sandwich was eaten by Smith' are
a. Ildentical in the deep structure

b. Different in the deep structure

c. Identical in the surface structure

d. Identical in deep and surface structure
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. The sentence 'she drank the juice in the kitchen' has

3
a. Two distinct deep structures

b. Two identical deep structures

c. Two surface structures

d. One deep and one surface structure

. Arabic is an example of ........ languages.

4
a. VSO
b. SVO
c. SOV
d. OVS

\Y
.
. V+
. C+l

o 0 T o wun

. The syntactic head of a clause (IP) is :

6. ceeeerennenens refers to the speakers' actual use of language in concrete situations

a. Performance
b. Competence
¢. Linguistics

d. Syntax
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